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001. fÞk hkßÞ{kt yuf …ðoŒ …h ykþhu 863 si™ {trËhku ykðu÷kt Au?

(A) hksMÚkk™ (B) „wshkŒ

(C) ykurhM‚k (D) rƒnkh

002. ¼khŒ™e ykÍkËe …nu÷k „wshkŒ™wt fÞwt MÚk¤ „kurn÷ðkz Œhefu yku¤¾kŒwt nŒwt?

(A) ƒ™k‚fktXk (B) ‚kƒhfktXk

(C) ¼kð™„h (D) ðzkuËhk

003. …rå[f{ ßðu÷he {q¤ .......... ™e Au.

(A) ðzkuËhk (B) fåA

(C) {nu‚kýk (D) ¼kð™„h

004. ‚whŒ þnuh ƒeò fÞk ™k{Úke …ý yku¤¾kÞ Au?

(A) ‚íÞ…wh (B) ‚whŒ…wh

(C) ‚w…wh (D) ‚qÞo…wh

005. fÞk Ëuþu 2021{kt ðzk«Äk™ {kuËe™u ‚ðkuoå[ ™k„rhf ‚L{k™ ‘ykuzoh ykuV z›f øÞkÕ…ku’Úke ‚L{kr™Œ fÞkO Au?

(A) ™u…k¤ (B) ©e÷tfk

(C) ¼qŒk™ (D) ‚tÞwõŒ ykhƒ y{ehkŒ

006. ¼khŒeÞ yðfkþ ‚tþkuÄ™ ‚tMÚkk (ErLzÞ™ M…u‚ rh‚[o yku„uo™kEÍuþ™-ISRO)™k …w™:W…Þku„e ÷kuL[ Ônef÷ (RLV)
fu suýu Œu™wt ºkeswt r{þ™ ‚V¤Œk…qðof nkÚk ÄÞwO Œu™u fÞwt ™k{ yk…ðk{kt ykÔÞwt Au?

(A) …w»…f (B) rð™kÞf

(C) „Áz (D) {kÁrŒ

007. ¼khŒeÞ y™u y{urhfk™k ™kifkË¤u {k[o 2024{kt nkÚk Ähu÷e rî…ûkeÞ {k™ðŒkðkËe ‚nkÞ y™u yk…r¥k hknŒ (HADR)
fðkÞŒ fÞkt ™k{u yku¤¾kÞ Au?

(A) yuõ‚‚kRÍ r{÷™ (B) {÷ƒkh

(C) he{-ykuV-Ä-…ur‚rVf (D) xkR„h xÙkÞBV-24

008. yrø™ƒký ..........

(A) ELËkuh, Wßsi™ y™u ¼ku…k÷Úke «fkrþŒ ÚkŒwt y„úýe rnLËe Ëir™f ‚ktæÞ y¾ƒkh Au.

(B) ‚w…h‚kur™f ¢qÍ r{‚kE÷ ƒ™kððk {kxu ¼khŒ y™u hrþÞk ðå[u ‚tÞwõŒ ‚kn‚ Au.

(C) ykRykRxe-{ÿk‚ îkhk RLfâwƒuxuz M…u‚ Mxkxo-y… yrø™fw÷ fkuM{ku‚ îkhk ÷ku yÚko ykurƒox (LEO) {kxu ™k™k
W…„únku {kxu {kuƒkR÷ ÷kuL[ r‚Mx{ Au.

(D) ykuhe-Áƒu÷k ™kƒqËe {kxu fuLÿ ‚hfkh™ku h‚efhý fkÞo¢{ Au.

009. RLxurL‚VkRz r{þ™ RLÿÄ™w»k 5.0 (IMI 5.0) yr¼Þk™ fÞk fkÞo¢{ ‚kÚku ‚tƒtrÄŒ Au?

(A) …kur÷Þku y™u nu…uxkRrx‚-ƒe™k h‚efhý yr¼Þk™{kt ‚wÄkhýk Íqtƒuþ

(B) ykuhe y™u Yƒu÷k™k h‚efhý ÔÞk…{kt ‚wÄkhku

(C) …Õ{ku™he xeƒe™k r™ðkhý {kxu ƒe‚eS h‚e™e y‚hfkhfŒk{kt ‚wÄkhku

(D) þeŒ¤k ™kƒqËe fkÞo¢{{kt ‚wÄkhku
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001. In which State, approximately 863 Jain temples are located on one mountain?

(A) Rajasthan (B) Gujarat

(C) Odisha (D) Bihar

002. Which place in Gujarat was known as Gohilwad before India’s independence?

(A) Banaskantha (B) Sabarkantha

(C) Bhavnagar (D) Vadodara

003. Originally the Pachchikam jewellery is from _______.

(A) Vadodara (B) Kutch

(C) Mehsana (D) Bhavnagar

004. The city of Surat is also known by the name of _______.

(A) Satyapur (B) Suratpur

(C) Supur (D) Suryapur

005. Which country has conferred the Order of the Druk Gyalpo, the highest civilian decoration, on
Prime Minister Modi in 2021?

(A) Nepal (B) Sri Lanka

(C) Bhutan (D) United Arab Emirates

006. The Reusable Launch Vehicle (RLV) of the Indian Space Research Organisation (ISRO) which
successfully conducted its third mission is named _______.

(A) Pushpak (B) Vinayak

(C) Garuda (D) Maruti

007. Indian and United States navies have conducted a bilateral Humanitarian Assistance and Disaster
Relief (HADR) exercise conducted in March 2024 called _______.

(A) Exercise MILAN (B) Malabar

(C) Rim-of-the-Pacific (D) Tiger Triumph-24

008. Agnibaan is _______.

(A) A leading Hindi daily evening newspaper published from Indore, Ujjain and Bhopal

(B) A joint venture between India and Russia to produce supersonic cruise missiles

(C) A mobile launch system for small satellites to Low Earth Orbits (LEO) by the space start-
up Agnikul Cosmos incubated by IIT-Madras

(D) A central government immunization program to eradicate Measles-Rubella

009. Intensified Mission Indradhanush 5.0 (IMI 5.0) campaign is related to which programme?

(A) Improvement of Polio and Hepatitis B vaccination drive

(B) Improvement of Measles and Rubella vaccination coverage

(C) Improvement of the efficacy of BCG vaccine in the prevention of pulmonary TB

(D) Improvement of the Smallpox eradication programme
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010. …„ y™u {kU™k hku„ (FMD) ‚kÚku fÞwt ‚tƒtrÄŒ Au?

(A) ƒuõxurhÞkÚke ÚkŒku …þwhku„

(B) Vq„Úke ÚkŒku …ûkehku„

(C) ð™M…rŒ hku„

(D) Vkxu÷e ¾heðk¤k ûkrŒ„úMŒ (õ÷kuðu™-nqV) «kýeyku™ku ðkÞh÷ hku„

011. 2024 ‚wÄe{kt hrþÞk™k hk»xÙ…rŒ Ô÷krË{eh …wrŒ™u hk»xÙ…rŒ™e [qtxýe{kt fux÷e {wËŒ {kxu rðsÞ {u¤ÔÞku Au?

(A) 3 xB‚o (B) 4 xB‚o

(C) 5 xB‚o (D) 6 xB‚o

012. ykËþo yk[kh ‚trnŒk (MCC)™k ‚tƒtÄ{kt fÞwt/fÞk ‚k[wt/‚k[k Au?

I. [qtxýe Ëhr{Þk™ hksfeÞ …ûkku y™u W{uËðkhku™k ðŒo™™u r™ÞtrºkŒ fhðk {kxu ¼khŒeÞ [qtxýe…t[ (EC) îkhk òhe
fhkÞu÷ {k„oËrþofkyku™ku ‚{qn.

II. ykËþo yk[kh ‚trnŒk™e h[™k Œ{k{ W{uËðkhku {kxu ‚{k™ h{Œ™wt ûkuºk ò¤ðe™u y™u [qtxýe÷ûke ÷k¼ {kxu
‚¥kkðkh {þe™he™ku ËwÁ…Þku„ yxfkðe™u {wõŒ y™u LÞkÞe [qtxýeyku ‚wr™rùŒ fhðk {kxu fhðk{kt ykðe Au.

III. ykËþo yk[kh ‚trnŒk™e þYykŒ{kt 1968-69{kt {æÞ-„k¤k™e [qtxýeyku Ëhr{Þk™ '÷½w¥k{ yk[kh ‚trnŒk’
þe»kof nuX¤ [qtxýe …t[ îkhk hsq fhðk{kt ykðe nŒe.

(A) VõŒ I ‚k[wt Au. (B) VõŒ I y™u II ‚k[k Au.

(C) VõŒ I y™u III ‚k[k Au. (D) ƒÄk s ‚k[k Au.

013. ƒtÄkhý™ku fÞku y™wåAuË [qtxýe…t[™u yLÞ ƒkƒŒku™e ‚kÚku ‚t‚Ë y™u hkßÞ rðÄk™‚¼k™e [qtxýeyku fhkððk™ku
ykËuþ yk…u Au?

(A) y™wåAuË 324 (B) y™wåAuË 224

(C) y™wåAuË 124 (D) y™wåAuË 24

014. ¼khŒ™e ƒnkh fÞk Ëuþ{kt «Úk{ ð¾Œ y{q÷™wt Œkswt ËqÄ W…÷çÄ Úkþu?

(A) ƒktø÷kËuþ (B) ©e÷tfk

(C) hrþÞk (D) Þwyu‚yu

015. ‘yku…huþ™ RLÿkðŒe’ ..........

(A) 2022{kt hrþÞk™k Þw¢u™ …h™k yk¢{ý™e þYykŒ{kt …zkuþe Ëuþku{kt yxðkÞu÷k ÷„¼„ 18000 ¼khŒeÞku,
{kuxk¼k„u rðãkÚkeoyku™wt MÚk¤ktŒh.

(B) EÍhkÞu÷-…u÷uMxkE™ ‚t½»ko ðå[u V‚kÞu÷k ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Eðufâwyuþ™ r{þ™.

(C) ‚wËk™{kt V‚kÞu÷k ÷„¼„ 3,900 ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Rðufâwyuþ™ r{þ™.

(D) niŒeÚke zkur{r™f™ rh…rç÷f{kt ¼khŒeÞku™u ƒ[kððk {kxu ¼khŒ ‚hfkh îkhk Rðufâwyuþ™ r{þ™.

016. “yuõ‚‚kRÍ ÷ur{xe-2024” yu ¼khŒ y™u ƒeò fÞk Ëuþ ðå[u 10 rËð‚™e ‚tÞwõŒ ‚iLÞ fðkÞŒ Au?

(A) ykuMxÙur÷Þk (B) ®‚„k…kuh

(C) Þwyu‚yu (D) ‚uþuÕ‚

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BIH - MASTER ] 5 P.T.O.

010. The Foot and Mouth Disease (FMD) is related to _____________?

(A) Bacterial disease of livestock

(B) Fungus disease of Birds

(C) Plant disease

(D) Viral disease of cloven-hoofed animals

011. By 2024, Russian President Vladimir Putin has secured victory in the presidential elections for
how many terms?

(A) 3 terms (B) 4 terms

(C) 5 terms (D) 6 terms

012. Which is/are correct regarding the Model Code of Conduct (MCC)?

I. A set of guidelines issued by the Election Commission of India (EC) to regulate the conduct
of political parties and candidates during elections.

II. The MCC is designed to ensure free and fair elections by maintaining a level playing field
for all contestants and preventing the misuse of official machinery for electoral gains.

III. MCC was initially introduced by the Election Commission under the title of ‘Minimum
Code of Conduct’ during the Mid-Term Elections in 1968-69.

(A) Only I is correct (B) Only I and II are correct

(C) Only I and III are correct (D) All are correct

013. Which article of the Constitution mandates the Election Commission to conduct elections, among
other things, to the Parliament and the State Legislatures?

(A) Article 324 (B) Article 224

(C) Article 124 (D) Article 24

014. For the first time Amul fresh milk will be available in which country outside India?

(A) Bangladesh (B) Sri Lanka

(C) Russia (D) USA

015. ‘Operation Indravati’ is _______.

(A) Evacuation of around 18000 Indians, mostly students, who were stuck in neighboring
countries at the onset of Russia’s invasion of Ukraine in 2022.

(B) Evacuation mission by the Indian government to rescue Indians stranded amid the Israel-
Palestine conflict.

(C) Evacuation mission by the Indian government to rescue around 3,900 Indians stranded in
Sudan.

(D) Evacuation mission by the Indian government to rescue Indians from Haiti to the Dominican
Republic.

016. “EXERCISE LAMITIYE–2024” is a 10-day joint military exercise between India and which
other country?

(A) Australia (B) Singapore

(C) USA (D) Seychelles
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017. Ëuþ™k „úk{eý rðMŒkhku™u «kÄkLÞ yk…Œk Þwðk rðãkÚkeoyku™u yðfkþ rð¿kk™, yðfkþ Œf™ef y™u yðfkþ yurÃ÷fuþ™
…h {q¤¼qŒ ¿kk™ yk…ðk {kxu ISRO™k ‘Þt„ ‚kÞrLxMx «ku„úk{’™wt ™k{ þwt Au?

(A) ™krðfk (B) Þwrðfk

(C) ÞwrÚkfk (D) E‚hkufk

018. fÞk Ëuþ™wt RLMxLx …u{uLx Ã÷uxVku{o AANI ¼khŒ™k UPI ‚kÚku òuzkÞu÷wt Au?

(A) ÞwyuR (B) fŒkh

(C) ™u…k¤ (D) ¼qŒk™

019. ¼khŒ™ku ‚kiÚke ÷ktƒku fuƒ÷ Mxuz rƒús,'‚wËþo™ ‚uŒw’ fÞkt hkßÞ{kt ykðu÷ku Au?

(A) sB{w y™u fk~{eh (B) „wshkŒ

(C) {nkhk»xÙ (D) r‚r¬{

020. ¼khŒ™k yuykE ‚w…h fkuBÃÞwxh™wt ™k{ þwt Au, su™u s{o™e{kt ELxh™uþ™÷ ‚w…h fkuBÃÞw®x„ fkuLVhL‚ (ISC 2023){kt
rðï¼h{kt 75{wt MÚkk™ yk…ðk{kt ykÔÞwt Au?

(A) yswo™ (B) „Áz

(C) ÿwŒ (D) yihkðŒ

021. ¼khŒ{kt f]rºk{ ƒwrØ{¥kk(AI)™u «kuí‚kn™ yk…ðk {kxu E÷uõxÙkur™õ‚ y™u {krnŒe «kiãkur„fe {tºkk÷Þ(r{r™MxÙe
ykuV E÷uõxÙkur™õ‚ yuLz ELV{uoþ™ xu÷™ku÷kìS-MEITY) îkhk þY fhðk{kt ykðu÷ Aºk fkÞo¢{(ytƒúu÷k «ku„úk{)™wt
™k{ þwt Au?

(A) ErLzÞk-yuykE (B) yuykE-ErLzÞk

(C) rzrsx÷ ErLzÞk (D) ykxo-RLx-RLz

022. ™uºkMŒhËkn hku„ (Conjunctivitis)™u .......... Œhefu …ý yku¤¾ðk{kt ykðu Au.

(A) ø÷wfku{k (Glaucoma) (B) {kÞkur…Þk (Myopia)

(C) ykt¾ ykððe (Pink Eye) (D) «uMƒkÞkur…Þk (Presbyopia)

023. ¼khŒu fÞkt ð»ko ‚wÄe{kt 'þqLÞ Wí‚so™’™wt ÷ûÞ nkt‚÷ fhðk™wt ÷ûÞ hkÏÞwt Au?
(A) 2047 (B) 2050
(C) 2060 (D) 2070

024. 'rzrsx÷ fÕ[h’ – þçËku ..........

(A) su heŒu fkuBÃÞwxh, ÷u…xku… y™u {kuƒkE÷™ku W…Þku„ ÚkkÞ Au, Œu™ku ‚tË¼o yk…u Au.

(B) ðŒoýqfku, ÔÞðnkhku y™u {qÕÞku su rzrsx÷ Œf™efku™k W…Þku„Úke rðfr‚Œ ÚkkÞ Au, Œu™ku ‚tË¼o yk…u Au.

(C) su heŒu rðãkÚkeoyku M{kxo xuf™ku÷kuS{ktÚke þe¾u Au, Œu™ku ‚tË¼o yk…u Au.

(D) su heŒu ÷kufku á~Þ-©kÔÞ (ykurzÞku-rðÍTÞwy÷) xuf™ku÷kuS ðzu «íÞkÞ™ fhu Au, Œu™ku ‚tË¼o yk…u Au.

025. ¼khŒ{kt ‚kiÚke ÷ktƒku {wÏÞ ¼qr{ ËrhÞkrf™khku fÞk hkßÞ …k‚u Au?

(A) yktÄú«Ëuþ (B) {nkhk»xÙ

(C) Œkr{÷™kzw (D) „wshkŒ

026. ™uþ™÷ yufuzu{e ykuV fkuMx÷ …ku÷e®‚„ (NACP)™wt fkÞ{e {Úkf õÞkt ykðu÷wt Au?

(A) îkhfk, „wshkŒ (B) ¼ws, „wshkŒ

(C) fåA, „wshkŒ (D) ‚÷kÞk, „wshkŒ
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017. What is the name of ISRO’s ‘Young Scientist Programme’ to impart basic knowledge on space
science, space technology, and space applications to the younger students with a preference to
rural areas of the country?

(A) NAVIKA (B) YUVIKA

(C) YUTHIKA (D) ISROKA

018. Which country’s instant payment platform AANI has been linked with India’s UPI?

(A) UAE (B) Qatar

(C) Nepal (D) Bhutan

019. ‘Sudarshan Setu’, India’s longest cable-stayed bridge, is located in which state?

(A) Jammu and Kashmir (B) Gujarat

(C) Maharashtra (D) Sikkim

020. What is the name of India’s AI Supercomputer that has been ranked No. 75 worldwide at the
International Supercomputing Conference (ISC 2023) in Germany?

(A) ARJUN (B) GARUDA

(C) DRUTA (D) AIRAWAT

021. What is the name of the umbrella programme launched by the Ministry of Electronics and
Information Technology (MeitY) to promote artificial intelligence in India?

(A) INDIAai (B) AI-INDIA

(C) Digital India (D) Art-Int-Ind

022. Conjunctivitis disease is also known as _______.

(A) Glaucoma (B) Myopia

(C) Pink Eye (D) Presbyopia

023. India aims to achieve the target of ‘net zero emissions’ by the year _______.

(A) 2047 (B) 2050

(C) 2060 (D) 2070

024. The phrase ‘Digital Culture’ refers to _______.

(A) The way computers, laptops, and mobiles are used.

(B) The behaviours, practices, and values that develop from the use of digital technologies.

(C) The way students learn from smart technologies.

(D) The way people interact with audio-visual technology.

025. Which state has the longest mainland coastline in India?

(A) Andhra Pradesh (B) Maharashtra

(C) Tamil Nadu (D) Gujarat

026. The permanent campus of the National Academy of Coastal Policing (NACP) is located
in _______.

(A) Dwarka, Gujarat (B) Bhuj, Gujarat

(C) Kutch, Gujarat (D) Salaya, Gujarat
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027. „wshkŒ{kt ¼khŒeÞ st„÷e „Äuzk™wt y¼ÞkhÛÞ ..........

(A) fåA™k ™k™k hý{kt ykðu÷wt Au.

(B) ðkt‚Ëk hk»xÙeÞ Wãk™, ™ð‚khe{kt ykðu÷wt Au.

(C) òtƒw½kuzk ðLÞSð y¼ÞkhÛÞ, ðzkuËhk{kt ykðu÷wt Au.

(D) ðu¤kðËh hk»xÙeÞ Wãk™, ¼kð™„h{kt ykðu÷wt Au.

028. fåA{kt ykðu÷wt ‚whfkuxzk ..........

(A) ®‚Äw ¾eý™e ‚tMf]rŒ™k yðþu»kku {kxu òýeŒwt Au.

(B) ¼‚Œk nhý™wt ðLÞSð y¼ÞkhÛÞ {kxu òýeŒwt Au.

(C) …÷koRx™k Wí…kË™ {kxu òýeŒwt Au.

(D) þu÷ „u‚™k y™k{Œ sÚÚkk {kxu òýeŒwt Au.

029. ÷û{e rð÷k‚ …u÷u‚ {kxu ðzkuËhk™k {nkhkò îkhk fÞk «ÏÞkŒ f÷kfkh …k‚u r[ºkku ŒiÞkh fhkðk{kt ykÔÞk nŒk?

(A) ™xðh÷k÷ ¼kð‚kh (B) yçËw÷ „Vqh ¾ºke

(C) hkò hrð ð{ko (D) hrðþtfh hkð¤

030. ™ð÷¾e ðkð ..........

(A) ÷û{e rð÷k‚ …u÷u‚ ðzkuËhk{kt ykðu÷e Au. (B) rðsÞ rð÷k‚ …u÷u‚ ¼kð™„h{kt ykðu÷e Au.

(C) «k„ {nu÷ fåA{kt ykðu÷e Au. (D) ™e÷{ƒk„ …u÷u‚ ¼kð™„h{kt ykðu÷e Au.

031. «r‚Ø nzÃ…eÞ {wÿk fu su{kt «kýeyku™e Y…hu¾kyku y™u r[öku Au, Œu …ÚÚkh fÞkt ™k{u yku¤¾kÞ Au?

(A) MxuxexT‚ (B) [q™k™ku …ÚÚkh

(C) xÙkðxkoR™ (D) yrø™f]Œ

032. nzÃ…eÞ ÷kufku „wshkŒ™k fÞk ¼k„{ktÚke nMŒf÷k Wí…kË™ {kxu fk™uor÷Þ™ …ÚÚkh suðe ‚k{„úe {u¤ðŒk nŒk?

(A) Äku¤kðehk (B) ¼Y[

(C) ÷kuÚk÷ (D) ‚whfkuxzk

033. ™e[u™k{ktÚke fÞwt y™ks nzÃ…eÞ MÚk¤kuyu «{ký{kt ¼køÞu s òuðk {¤Œwt nŒwt?

(A) ½ô y™u sð (B) Œ÷

(C) ƒkshe (D) [ku¾k

034. 1918{kt „ktÄeS „wshkŒ{kt ƒu [¤ð¤{kt ‚k{u÷ nŒk. yuf y{ËkðkË{kt {sqh [¤ð¤. su{kt fk…z r{÷ fk{Ëkhku
{kxu fk{ fhðk™e ‚khe rMÚkrŒ™e {kt„ nŒe. Œu{™e ƒeS [¤ð¤ fE nŒe?

(A) ¾uzk{kt ¾uzqŒku ‚kÚku Œu{™e ÷ýýe™e r™»V¤Œk™u …„÷u hkßÞ™u fh {kVe

(B) [t…khý{kt, ¾uzqŒku™k s{e™ ¼ku„ðxk nf™e ‚whûkk Œu{s Œu{™e …‚tË„e™k …kf™e ¾uŒe fhðk™e MðŒtºkŒk™e
{kt„ýe

(C) “hku÷ux yuõx” rðÁØ ËuþÔÞk…e Íwtƒuþ

(D) W…h™k{ktÚke yuf …ý ™rn

035. 1930{kt „ktÄeSyu {eXk™k ‚íÞk„ún {kxu nkf÷ fhe íÞkhu rƒúrxþ ðkR‚hkuÞ fkuý nŒk?

(A) ÷kuzo Rhrð™ (B) ÷kuzo nkrzoLs

(C) ÷kuzo rh…™ (D) ÷kuzo {kWLxƒux™
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027. The Indian Wild Ass Sanctuary in Gujarat is situated in _______.
(A) Little Rann of Kutch
(B) Vansda National Park in Navsari
(C) Jambughoda Wildlife Sanctuary in Vadodara
(D) Velavadar National Park in Bhavnagar

028. Surkotada in Kutch is known for _______.
(A) Remnants of Indus Valley Civilization
(B) Wildlife Sanctuary for barking deer
(C) Perlite production
(D) Shale Gas reserve

029. Paintings of which famous artist was commissioned by the Maharaja of Baroda for Laxmi
Vilas Palace?
(A) Natvar Bhavsar (B) Abdul Gafur Khatri
(C) Raja Ravi Verma (D) Ravishankar Raval

030. Navlakhi Stepwell is located in _______
(A) Laxmi Vilas Palace Boroda (B) Vijay Vilas Palace in Bhavnagar
(C) Prag Mahal in Kutch (D) Nilambagh Palace in Bhavnagar

031. The famous Harappan Seal that contains animal motifs and signs was made of a stone
called _______
(A) Steatite (B) Limestone
(C) Travertine (D) Igneous

032. The Harappans used to procure materials like Carnelian stone for craft production from which
part of Gujarat?
(A) Dholavira (B) Bharuch
(C) Lothal (D) Surkotada

033. Which among the following grains was found relatively rarely at Harappan sites?
(A) Wheat and barley (B) Sesame
(C) Millets (D) Rice

034. In 1918, Gandhiji was involved in two campaigns in Gujarat. One was in a labour dispute in
Ahmedabad, demanding better working conditions for the textile mill workers. What was his
second campaign?
(A) He joined peasants in Kheda in asking the state for the remission of taxes following the

failure of their harvest.
(B) In Champaran, demanding peasants’ security of tenure as well as the freedom to cultivate

the crops of their choice.
(C) Called for a countrywide campaign against the “Rowlatt Act”.
(D) None of the above

035. Who was the British Viceroy when Gandhi gave the clarion call for the “Salt March” in 1930?
(A) Lord Irwin (B) Lord Hardinge
(C) Lord Ripon (D) Lord Mountbatten
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036. ¼khŒ™k Yr…Þk™k «Œef (`)™e rzÍkR™ ..........

(A) 2010{kt ¼khŒeÞ rðîk™ y™u rzÍkR™h WËÞ fw{khu ŒiÞkh fhe nŒe.

(B) 2014{kt ¼khŒeÞ rðîk™ y™u rzÍkR™h «¼kŒ fw{khu ŒiÞkh fhe nŒe.

(C) 2015{kt ¼khŒeÞ yÚkoþkMºke h½whk{ hks™u ŒiÞkh fhe nŒe.

(D) 2013{kt y{urhf™ rzÍkR™h fu™uÚk RÍu ŒiÞkh fhe nŒe.

037. ¼khŒ {wÏÞíðu ™e[u™k{ktÚke fE f]r»k …uËkþku™e ykÞkŒ fhu Au?

(A) Œu÷erƒÞkt (B) ¾kãŒu÷

(C) fXku¤ (D) ½ô

038. ™e[u™k{ktÚke fÞwt “ðMŒe rðMVkux”™e ½x™k Ëuþ™e ðMŒe rð»kÞf …rhrMÚkrŒ ŒhV r™Ëuoþ fhu Au?

(A) sL{Ëh{kt ðÄkhku y™u Ÿ[ku {]íÞwyktf

(B) sL{Ëh{kt ðÄkhku y™u {]íÞwyktf{kt ½xkzku

(C) ™e[ku sL{yktf y™u {]íÞwËh{kt ðÄkhku

(D) sL{yktf{kt ½xkzku y™u {]íÞwËh{kt ðÄkhku

039. ¼khŒ rðï{kt ËqÄ Wí…kË™{kt .......... ¢{u Au.

(A) «Úk{ (B) ƒeò

(C) ºkeò (D) [kuÚkk

040. ‘…eyu{ (PM) „rŒ þrõŒ’ ..........

(A) hk»xÙeÞ Äkuhe{k„o (™uþ™÷ nkE-ðu)™k ƒktÄfk{ {kxu hk»xÙeÞ ƒ]nË Þkus™k (™uþ™÷ {kMxh Ã÷k™) Au.

(B) ðtËu ¼khŒ xÙu™ku™u Íz…e ƒ™kððk {kxu hk»xÙeÞ fkÞo Þkus™k (™uþ™÷ yuõþ™ Ã÷k™) Au.

(C) {Õxe {kuz÷ f™urõxrðxe {kxu hk»xÙeÞ ƒ]nË Þkus™k (™uþ™÷ {kMxh Ã÷k™) Au.

(D) ™Ëeyku òuzký {kxu hk»xÙeÞ fkÞo Þkus™k (™uþ™÷ yuõþ™ Ã÷k™) Au.

041. “÷kufþkne hksfeÞ ‚{k™Œk™k {q¤¼qŒ r‚ØktŒ …h ykÄkrhŒ Au.” yk rðÄk™™k ykÄkhu ™e[u™k{ktÚke fÞwt/fÞkt r™ðuË™/
r™ðuË™ku ‚k[wt/‚k[kt Au/Au?

I. Ëhuf …wÏŒ ™k„rhf …k‚u yuf {Œ nkuðku skuEyu y™u Ëhuf {Œ™wt yuf {qÕÞ nkuðwt òuEyu.

II. ÷kufþkne {wõŒ y™u r™»…ûk [qtxýe …h ykÄkrhŒ nkuðe òuEyu.

III. ÷kufþkne{kt ytrŒ{ r™ýoÞ ÷uðk™e ‚¥kk ÷kufku îkhk [qtxkÞu÷k ÷kufku …k‚u nkuðe òuEyu.

(A) VõŒ I (B) VõŒ II

(C) I y™u II ƒt™u (D) ƒÄkt s ‚k[kt Au.

042. fÞk Ëuþ™e [qtxýe «ýk÷e{kt MÚkkr™f ÷kufku™k {Œ™wt {qÕÞ ¼khŒeÞ {q¤™k ™k„rhfku fhŒkt ðÄw Au?

(A) ©e÷tfk (B) rVS

(C) {k÷rËÔ‚ (D) BÞk™{kh
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036. The Rupee symbol (`) of India was designed by _______

(A) The Indian academic and designer Udaya Kumar in 2010

(B) The Indian academic and designer Prabhat Kumar in 2014

(C) The Indian economist Raghuram Rajan in 2015

(D) The American designer Kenneth Ize in 2013

037. India mainly imports which among the following agricultural products?

(A) Oil seeds (B) Edible Oils

(C) Pulses (D) Wheat

038. The phenomenon of “population explosion” points towards which of the following situations in
the demography of a country?

(A) Increased birth rate and high death count

(B) Increased birth rate and the decreased death count

(C) Low birth count and increased death rate

(D) Decreased birth count and increased death rate

039. India ranks _______ in milk production in the world.

(A) First (B) Second

(C) Third (D) Fourth

040. The ‘PM Gati Shakti’ is _______

(A) National Master Plan for National High-Way Construction

(B) National Action Plan for Expediting Vande Bharat Trains

(C) National Master Plan for Multi-Modal Connectivity

(D) National Action Plan for River Connectivity

041. “Democracy is based on a fundamental principle of political equality.” Based on this statement,
which of the following assertions is/are correct?

I. Each adult citizen must have one vote and each vote must have one value.

II. A democracy must be based on a free and fair election.

III. In a democracy the final decision-making power must rest with those elected by the people.

(A) Only I (B) Only II

(C) Both I & II (D) All are correct

042. In which country’s electoral system does the indigenous people’s vote have more value than the
citizens of Indian origin?

(A) Sri Lanka (B) Fiji

(C) Maldives (D) Myanmar
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043. ¼khŒeÞ hk»xÙeÞ fkU„úu‚™k fÞk yrÄðuþ™{kt MðŒtºk ¼khŒ™wt ƒtÄkhý fuðwt nkuðwt òuEyu Œu™k …h [[ko ÚkE nŒe?

(A) ™k„…wh yrÄðuþ™ 1920 (B) fk™…wh yrÄðuþ™ 1925

(C) fhkt[e yrÄðuþ™ 1931 (D) {wtƒE yrÄðuþ™ 1934

044. ™e[u™k{ktÚke fkuý ‚e. hks„ku…k÷k[khe™e ‚kÚku MðŒtºk …kxeo™k MÚkk…f nŒk?

(A) f™iÞk÷k÷ {kýuf÷k÷ {w™þe (B) {e™w {‚kýe

(C) yu™. S. ht„k (D) Ëþo™ ®‚„

045. I (™uŒkyku)™u II (ƒtÄkhý™k r™{koý{kt ¼qr{fkyku) ‚kÚku ÞkuøÞ heŒu skuzku.

 I  II

a. {kuŒe÷k÷ ™unÁ i. ƒtÄkhý ‚¼k™k «{w¾

b. ƒe.ykh. yktƒuzfh ii. ƒtÄkhý ‚¼k™k ‚ÇÞ

c. hksuLÿ «‚kË iii. {w‚Æk ‚r{rŒ™k yæÞûk

d. ‚hkurs™e ™kÞzw iv. 1928{kt ¼khŒ {kxu ƒtÄkhý™ku {w‚Æku ŒiÞkh fÞkuo

(A) a - i, b - ii, c - iii, d - iv (B) a - iii, b - iv, c - ii, d - i
(C) a - iv, b - iii, c - i, d - ii (D) a - ii, b - i, c - iv, d - iii

046. I (ƒtÄkhý™k {k„oËþof {qÕÞku)™u II (Œu{™k yÚko) ‚kÚku ÞkuøÞ heŒu skuzku.

 I  II

a. ‚kðo¼ki{ i. ‚hfkh fkuE …ý Ä{o™e ŒhVuý fhþu ™nª.

b. «ò‚¥kkf ii. ÷kufku™u r™ýoÞ ÷uðk™ku ‚ðkuoå[ yrÄfkh Au.

c. ƒtÄwíð iii. hkßÞ™k ðzk [qtxkÞu÷k ÔÞrõŒ Au.

d. rƒ™‚kt«ËkrÞf iv. ÷kufkuyu ¼kE-ƒnu™™e su{ Sððwt skuEyu.

(A) a - ii, b - iii, c - iv, d - i (B) a - i, b - ii, c - iii, d - iv
(C) a - iii, b - iv, c - ii, d - i (D) a - iv, b - i, c - iii, d - ii

047. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. {nkí{k „ktÄe ƒtÄkhý ‚¼k™k ‚ÇÞ ™ nŒk.

II. {nkí{k „ktÄe™k rð[khku, ÿrü y™u Ëþo™ (rV÷‚qVe)™u ƒtÄkhý ‚¼k™k ½ýk ‚ÇÞku îkhk y™w‚hðk{kt ykÔÞk nŒk.

(A) VõŒ I ‚k[wt Au. (B) I y™u II ƒt™u ‚k[kt Au.

(C) VõŒ II ‚k[wt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.

048. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. ƒtÄkhý™wt fkÞo {q¤¼qŒ r™Þ{ku™u «Ëk™ fhðk™wt Au y™u ‚{ks{kt r™ýoÞ ÷uðk™e ‚¥kk fku™e …k‚u Au Œu M…ü
fhðk™wt Au.

II. ƒtÄkhý™wt fkÞo yu Au fu ‚hfkh Œu™k ™k„rhfku …h þwt ÷kËe þfu Œu™e fux÷ef {ÞkoËkyku r™ÄkorhŒ fhðe y™u ‚hfkh
õÞkhuÞ Œu{™wt WÕ÷t½™ ™ fhe þfu.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.
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043. Which session of the Indian National Congress dwelt on how independent India’s constitution
should look like?

(A) The Nagpur session 1920 (B) The Kanpur session 1925

(C) The Karachi session 1931 (D) The Bombay session 1934

044. Beside C. Rajagopalachari, who among the following was the founder of the Swatantra Party?

(A) Kanhaiyalal Maniklal Munshi (B) Minoo Masani

(C) N.G. Ranga (D) Darshan Singh Pheruman

045. Match I (leaders) with II (roles in the making of the Constitution).

 I  II

a. Motilal Nehru i. President of the Constituent Assembly

b. B.R. Ambedkar ii. Member of the Constituent Assembly

c. Rajendra Prasad iii. Chairman of the Drafting Committee

d. Sarojini Naidu iv. Drafted a Constitution for India in 1928

(A) a - i, b - ii, c - iii, d - iv (B) a - iii, b - iv, c - ii, d - i

(C) a - iv, b - iii, c - i, d - ii (D) a - ii, b - i, c - iv, d - iii

046. Match I (guiding values of the Constitution) with II (their meaning).

 I  II

a. Sovereign i. The government will not favour any religion

b. Republic ii. People have the supreme right to make decisions

c. Fraternity iii. Head of the state is an elected person

d. Secular iv. People should live like brothers and sisters

(A) a - ii, b - iii, c - iv, d - i (B) a - i, b - ii, c - iii, d - iv

(C) a - iii, b - iv, c - ii, d - i (D) a - iv, b - i, c - iii, d - ii

047. Which statement(s) is/are correct?

I. Mahatma Gandhi was not a member of the Constituent Assembly.

II. Mahatma Gandhi’s ideas, vision, and philosophy were followed by many members of the
Constituent Assembly

(A) Only I is correct (B) Both I and II are correct

(C) Only II is correct (D) Both I and II are not correct

048. Which among the following statement(s) is/are correct?

I. The function of a constitution is to provide a set of basic rules and specify who has the power
to make decisions in a society.

II. The function of a constitution is to set some limits on what a government can impose on its
citizens and the government may never trespass them.

(A) Only I is correct (B) Only II is correct

(C) Both I and II are correct (D) Both I and II are incorrect

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BIH - MASTER ] 14 [Contd.

049. ™e[u™k{ktÚke ¼khŒeÞ ƒtÄkhý™e fE rðþu»kŒkyku rƒúrxþ ƒtÄkhý{ktÚke y…™kððk{kt ykðe ™Úke?

(A) ‚hfkh™wt ‚t‚ËeÞ MðY…

(B) fkÞËk™k þk‚™™ku rð[kh

(C) yæÞûk™ku nkuÆku y™u Œu{™e ¼qr{fk

(D) MðŒtºkŒk, ‚{k™Œk y™u ƒtÄwíð™k r‚ØktŒku

050. ™e[u™k{ktÚke fÞwt/fÞkt rðÄk™/rðÄk™ku ‚k[wt/‚k[kt Au?

I. Ëuþ™k ƒtÄkhý îkhk {q¤¼qŒ yrÄfkhku™wt hûký y™u ¾kŒhe yk…ðk{kt ykðu Au.

II. {q¤¼qŒ yrÄfkh VõŒ ƒtÄkhý{kt ‚wÄkhku fhe™u s ƒË÷e þfkÞ Au.

(A) VõŒ I ‚k[wt Au. (B) VõŒ II ‚k[wt Au.

(C) I y™u II ƒt™u ‚k[kt Au. (D) I y™u II ƒt™u ‚k[kt ™Úke.

051. fuÃx™ y™u ‚ir™fku™wt 1200 ÔÞrõŒyku™wt sqÚk xÙu™{kt {w‚kVhe fhe hÌkwt Au. Ëh 15 ‚ir™fku {kxu yuf fuÃx™ nkuÞ Au. „úw…{kt
fuÃx™™e ‚tÏÞk fux÷e Au?

(A) 70 (B) 80

(C) 75 (D) 85

052. …kuMx ykurV‚{kt, ºký y÷„-y÷„ {qÕÞku™k MxuB…. Yk. 7, Yk. 8 y™u Yk. 10 ™k W…÷çÄ Au. [ku¬‚ hf{ fu su™k {kxu
fkuE MxuB… ¾heËe þfŒwt ™Úke ?

(A) 29 (B) 20

(C) 23 (D) 19

053. xku…÷e{kt ‚Vhs™™e ‚tÏÞk Ëh r{r™xu ƒ{ýe ÚkkÞ Au. òu xku…÷e yuf f÷kf{kt ‚Vhs™Úke ¼hu÷e nkuÞ, Œku xku…÷e
õÞkhu yzÄe ¼hu÷e nŒe?

(A) 55 r{r™x (B) 38 r{r™x

(C) 30 r{r™x (D) 59 r{r™x

054. {kun™ …k‚u ƒu „ýkt …ÚÚkh y™u ºký „ýkt r‚¬k ÚkR ™u fw÷ 70 Au. òu {kun™ …k‚u ykuAk{kt ykuAku yuf …ÚÚkh y™u
ykuAk{kt ykuAku yuf r‚¬ku nkuÞ, Œku {kun™ …k‚u hnu÷k r‚¬k™e ‚tÏÞk yk{ktÚke fE nkuE þfu?

(A) 11 (B) 12

(C) 13 (D) 15

055. þçË{k¤k™ku xwfzku 40 ‚urLx{exh ÷ktƒku Au. Œu ºký xwfzkyku{kt fk…ðk{kt ykðu Au. ‚kiÚke ÷ktƒku xwfzku {æÞ{ fË™k fhŒk
3 „ýku ÷ktƒku Au y™u ‚kiÚke ™k™ku xwfzku ‚kiÚke ÷ktƒku xwfzku fhŒk 23 ‚urLx{exh ™k™ku Au. ‚kiÚke xqtfk ¼k„™e ÷tƒkE þkuÄku
(‚u.{e.{kt).

(A) 9 ‚u.{e. (B) 6 ‚u.{e.

(C) 27 ‚u.{e. (D) 4 ‚u.{e.

056. ¼hðkz …k‚u 17 ½uxkt Au. ™ð r‚ðkÞ ƒÄk {]íÞw …kBÞk. Œu™e ‚kÚku fux÷kt ½uxkt ƒåÞkt?

(A) 6 (B) 8

(C) 7 (D) 9
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049. Which among the following features of the Indian Constitution is NOT adopted from the British
Constitution?

(A) Parliamentary Form of Government

(B) The idea of the rule of law

(C) Institution of the Speaker and her/his role

(D) Principles of Liberty, Equality and Fraternity

050. Which statement(s) is/are correct?

I. The Fundamental Rights are protected and guaranteed by the constitution of the country.

II. The Fundamental Right may only be changed by amending the Constitution itself.

(A) Only I is correct (B) Only II is correct

(C) Both I and II are correct (D) Both I and II are incorrect

051. A group of 1200 persons consisting of captains and soldiers is travelling in a train. For every 15
soldiers there is one captain. The number of captains in the group is?

(A) 70 (B) 80

(C) 75 (D) 85

052. In a post office, stamps of three different denominations of Rs. 7, Rs. 8 and Rs. 10 are available.
The exact amount for which one cannot buy stamps is:

(A) 29 (B) 20

(C) 23 (D) 19

053. The number of apples in a basket doubles every minute. If the basket is full of apples in an hour,
when was the basket half-filled?

(A) 55 minutes (B) 38 minutes

(C) 30 minutes (D) 59 minutes

054. Twice the number of stones and thrice the number of coins with Mohan are 70. If Mohan has at
least one stone and at least one coin, then which of these could be the number of coins that
Mohan has?

(A) 11 (B) 12

(C) 13 (D) 15

055. A piece of string is 40 centimetres long. It is cut into three pieces. The longest piece is 3 times as
long as the middle-sized and the shortest piece is 23 centimetres shorter than the longest piece.
Find the length of the shortest piece (in cm).

(A) 9 cm. (B) 6 cm.

(C) 27 cm. (D) 4 cm.

056. A Shepherd has 17 sheep. All but nine died. How many sheep left with him?

(A) 6 (B) 8

(C) 7 (D) 9
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057. A ytfku™e ‚kiÚke {kuxe ð„o ‚tÏÞk þwt Au?

(A) 988001 (B) 990901

(C) 998001 (D) 999001

058. 2359 ™e ™Sf™e ‚t…qýo ð„o ‚tÏÞk þwt Au?

(A) 2348 (B) 2402

(C) 2304 (D) 2401

059. ƒu-ytf™e ‚tÏÞk y™u ytfku™u ƒË÷e™u {u¤ðu÷e ‚tÏÞk ðå[u™ku ŒVkðŒ 63 Au. ‚tÏÞk™k ƒu ytfku ðå[u þwt ŒVkðŒ Au?

(A) 6 (B) 7

(C) 8 (D) 9

060. yuf …q÷ 30 {exh ÷ktƒku, 10 {e. …nku¤ku y™u 5 {e. Ÿzku Au. Œu™k VT÷kuh y™u rËðk÷™u r‚{uLx fhðk™e ®f{Œ Yk. 10
«rŒ [kuh‚ {exh ™k Ëhu þkuÄku...

(A) Yk. 700 (B) Yk. 7000

(C) Yk. 1500 (D) Yk. 15000

061. 50 rðãkÚkeoyku ‚¤t„ ƒksw{kt ƒuXk Au. hk{™wt MÚkk™ zkƒuÚke 15{wt y™u srŒ™™wt s{ýuÚke 12{wt MÚkk™ Au. h{uþ™wt MÚkk™
srŒ™™e zkƒe ƒkswyu …kt[{wt Au. hk{ y™u h{uþ ðå[u fux÷k rðãkÚkeoyku Au?

(A) 17 (B) 18

(C) 15 (D) 16

062. ‚kŒ r{ºkku {eþk, ®{þw, {kune, r«Þk, ðeh, …he y™u r¢»ke{ktÚke Ëhuf™e Ÿ[kE y÷„-y÷„ Au. f]»ke {kºk ºký sýÚke
ô[e Au. …he {kºk ðeh fhŒk ô[e Au. {eþk ®{þw fhŒk ô[e Au …ý {kuneÚke ™Úke. r«Þk {kune fhŒk ô[e Au. Œu{™e
ðå[u fkuý ‚kiÚke Ÿ[wt Au?

(A) f]r»k (B) {kune

(C) ®{þw (D) r«Þk

063. ™e[u™k{ktÚke y÷„ …zŒe ‚ktÏÞk fE Au?

3, 7, 13, 20, 31, 43, 57

(A) 7 (B) 20

(C) 31 (D) 43

064. yuf {ký‚u 7 f÷kf{kt 80 rf{e™wt ytŒh fkÃÞwt. ytþŒ: 8 rf{e/f÷kf ™k Ëhu [k÷ðkÚke. y™u ytþŒ: ‚kÞf÷ …h
16 rf{e/f÷kf™e Íz…u. [k÷ðkÚke ytŒh þkuÄku?

(A) 28 rf{e. (B) 30 rf{e.

(C) 32 rf{e. (D) 33 rf{e.

065. þk¤k™ku ‚uLxÙ÷ nku÷ 18 {exh ÷ktƒku y™u 12.5 {exh …nku¤ku Au. rËðk÷ku™e ™Sf 50 ‚u.{e. …nku¤e …èe™u ¾wÕ÷e
hk¾e™u VT÷kuh …h fk…uox ™k¾ðk™e Au. ¾wÕ÷k ¼k„™wt ûkuºkV¤ þkuÄku?

(A) 5.5 [kuh‚ {exh (B) 6 [kuh‚ {exh

(C) 29.5 [kuh‚ {exh (D) 15 [kuh‚ {exh

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight

CNF
Highlight



BIH - MASTER ] 17 P.T.O.

057. What is the largest square number of six digits?

(A) 988001 (B) 990901

(C) 998001 (D) 999001

058. What is the nearest perfect square number to 2359?

(A) 2348 (B) 2402

(C) 2304 (D) 2401

059. The difference between two-digit number and the number obtained by interchanging the digits
is 63. What is the difference between the two digits of the number?

(A) 6 (B) 7

(C) 8 (D) 9

060. A pool is 30 m. long, 10 m. broad and 5 m. deep. Find the cost of cementing its floor and its wall
at the rate of Rs. 10 per square meter.

(A) Rs. 700 (B) Rs. 7000

(C) Rs. 1500 (D) Rs. 15000

061. 50 students are sitting side by side in a row. Ram’s place is 15th from left and Jatin’s 12th from
right. Ramesh’s place is fifth to the left of Jatin. How many students are there between Ram
and Ramesh?

(A) 17 (B) 18

(C) 15 (D) 16

062. Each of the seven friends Misha, Minshu, Mohi, Priya, Veer, Pari and Krishi, has different
height. Krishi is taller than only three people. Pari is taller than only Veer. Misha is taller than
Minshu but not Mohi. Priya is taller than Mohi. Who is tallest among them?

(A) Krishi (B) Mohi

(C) Minshu (D) Priya

063. Find the odd one out:

3, 7, 13, 20, 31, 43, 57

(A) 7 (B) 20

(C) 31 (D) 43

064. A man travelled a distance of 80 km in 7 hrs. partly by walk at a rate of 8 km/h. and partly on
bicycle at 16 km/h. find the distance travelled by walk?

(A) 28 km. (B) 30 km.

(C) 32 km. (D) 33 km.

065. The central hall of a school is 18m long and 12.5m wide. A carpet is to be laid on the floor
leaving a strip 50 cm wide near the walls, uncovered. Find the area of the uncovered portion?

(A) 5.5 sq. m (B) 6 sq. m

(C) 29.5 sq. m (D) 15 sq. m
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066. {™kusu yuf …wMŒf™ku 2/8 ¼k„ ðktåÞku nŒku. yksu Œuýu 12 …k™k ðktåÞk. òu …wMŒf™kt 72 …k™kt ƒkfe nkuÞ Œku Œu …wMŒf{kt
fux÷kt …k™kt Au?

(A) 222 (B) 112

(C) 132 (D) 114

067. yk…u÷ {krnŒe™ku fk¤S…qðof yÇÞk‚ fhku y™u ™e[u™k «§™ku sðkƒ yk…ku.

8 ‚n…kXeyku™k sqÚk, 4 Akufhkyku H, I, J y™u K y™u 4 Akufheyku D, E, F y™u G yu ÷t[ ƒúuf Ëhr{Þk™ fkuVe …eðk
{kxu hkWLz xuƒ÷ …h ƒu‚ðk™wt ™¬e fÞwO. Œuyku yuðe heŒu ƒuXk Au fu:

1. Œu ƒÄk ™wt {w¾ yufƒeò™e ‚k{u Au.

2. fkuE ƒu Akufheyku fu Akufhkyku ƒksw{kt ƒuXk ™Úke.

3. J yu D y™u G ðå[u Au y™u I ™e ‚k{u {w¾ Au.

4. E, su K y™u I ðå[u ƒuXu÷wt Au, Œu D™e ‚k{u {w¾ Au.

5. H yu F ™ku Œkífkr÷f s{ýe ƒksw Au.

K ™e ‚k{u fkuý ƒuXwt Au?
(A) D (B) H
(C) I (D) F

068. EMMULATE þçË™k «Úk{, ºkeò, …kt[{k y™u Aêk yûkhku ‚kÚku Ëhuf þçË{kt yuf ðkh Ëhuf yûkh™ku W…Þku„
fhe™u fux÷k yÚko…qýo yt„úuS þçËku ƒ™kðe þfkÞ?

(A) yuf (B) ºký

(C) [kh (D) ƒu

069. ™e[u™k [kh{ktÚke ºký þçËku [ku¬‚ heŒu ‚h¾k Au y™u yuf y÷„ Au. y÷„ þçË …‚tË fhku.

(A) „ku„÷ì‚ (B) M…uõxufÕ‚

(C) ƒkÞVkuf÷ (D) ykurÃxf÷ hezh

070. ƒeS x{o «Úk{ x{o ‚kÚku ‚tƒtrÄŒ Au Œuðe s heŒu ºkeò …Ë ‚kÚku ‚tƒtrÄŒ rðfÕ… …‚tË fhku.

IVORY : ZWSPJ :: CREAM : ?

(A) NFDQB (B) SNFDB
(C) DSFCN (D) BQDZL

071. òu (5x + 2) < (8x – 1) y™u (7x – 2) > 3(x + 6). x (x  N) ™ku ‚kuÕÞwþ™ ‚ux þwt nþu

(A) {2, 3, 4, 5} (B) N
(C) {5, 6, 7, 8} (D) {5, 6, 7, 8, …}

072. Þwr™ðr‚oxe{kt [kh {wÏÞ rð¼k„ku Au: yurLsr™Þ®h„, {k™ðŒk, ÔÞð‚kÞ y™u rð¿kk™. Ëhuf rð¼k„™ku …kuŒk™ku MxkV
nkuÞ Au, su™wt rðŒhý ™e[u {wsƒ Au: yurLsr™Þ®h„ rð¼k„ 1200 ÔÞrõŒyku™u hkus„khe yk…u Au, su Þwr™ðr‚oxe™k fw÷
MxkV™k 30% rnM‚ku Ähkðu Au. {k™ðŒk rð¼k„{kt fw÷ MxkV™k 20%™ku ‚{kðuþ ÚkkÞ Au. ™k™k fË {kxu òýeŒk
rƒÍ™u‚ rð¼k„{kt 800 MxkV ‚ÇÞku Au. ƒkfe™k f{o[kheyku rð¿kk™ rð¼k„{kt fkÞohŒ Au. yurLsr™Þ®h„ rð¼k„{kt
rð¿kk™ rð¼k„{kt MxkV™k ‚ÇÞku™k „wýku¥kh™e „ýŒhe fhku.

(A) 1:1 (B) 2:3

(C) 3:2 (D) 1:2
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066. Manoj had read 2/8 of a book. Today he read 12 pages. If 72 pages of the book are left then how
many pages are there in that book?
(A) 222 (B) 112
(C) 132 (D) 114

067. Study the given information carefully and answer the question that follows.
A group of 8 classmates, 4 boys H, I, J and K and 4 girls D, E, F and G decided to sit at a around
table to have coffee, during the lunch break. They are sitting in such a way that:
1. All of them are facing each other.
2. No two girls or boys are sitting side by side.
3. J is between D and G and is facing I.
4. E, who is sitting between K and I, is facing D.
5. H is the immediate right of F.
Who is sitting in front of K?
(A) D (B) H
(C) I (D) F

068. How many meaningful English words can be formed with the first, the third, the fifth and the
sixth letters of the word EMMULATE, using each letter once in each word?
(A) One (B) Three
(C) Four (D) Two

069. Three of the following four words are alike in a certain way and one is different. Select the odd
one.
(A) Goggles (B) Spectacles
(C) Bifocal (D) Optical Reader

070. Select the option that is related to the third term in the same way as the second term is related
to the first term.
IVORY : ZWSPJ :: CREAM : ?
(A) NFDQB (B) SNFDB
(C) DSFCN (D) BQDZL

071. If (5x + 2) < (8x – 1) and (7x – 2) > 3(x + 6). What will be solution set of x (x  N)
(A) {2, 3, 4, 5} (B) N
(C) {5, 6, 7, 8} (D) {5, 6, 7, 8, …}

072. A university has four major departments: Engineering, Humanities, Business, and Science.
Each department has its own staff, distributed as follows: The engineering department employs
1200 individuals, which account for 30% of the university’s total staff. The humanities
department comprise of 20% of the total staff. The business department, known for its smaller
size, has 800 staff members. The remaining staff members are employed in science department.
Calculate the ratio of staff members in the engineering department to those in the science
department.
(A) 1:1 (B) 2:3
(C) 3:2 (D) 1:2
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073. yuf ft…™e{kt fk{ fhŒk 10 f{o[kheyku™ku ‚huhkþ {kr‚f …„kh Yk. 6835 y™u Œu{ktÚke 3 {rn÷k f{o[kheyku™ku
‚huhkþ {kr‚f …„kh Yk. 5428. ƒkfe™k 7 f{o[kheyku™ku ‚huhkþ {kr‚f …„kh fux÷ku Au?

(A) 6550 (B) 6845

(C) 7238 (D) 7438

074. òu ƒu y™¼e™Œ A ƒksw ðk¤e zkR‚ VUfðk{kt ykðu Œku, ƒt™u zkR‚ …h™e ‚tÏÞkyku™ku ‚hðk¤ku yu 5 fhŒk {kuxe
yrð¼kßÞ ‚tÏÞk nkuðk™e ‚t¼kð™k fux÷e Au?

(A) 2/9 (B) 1/9

(C) 1/3 (D) 15/36

075. ÷tƒ[kuh‚ xƒ™ku fýo 25 Vqx Au. òu xqtfe ƒksw 15 Vqx nkuÞ, Œku xƒ™ku rðMŒkh þkuÄku.

(A) 420 [kuh‚ Vqx (B) 300 [kuh‚ Vqx

(C) 360 [kuh‚ Vqx (D) 240 [kuh‚ Vqx

076. y™¼e™Œ ™ nkuÞ Œuðe zkR‚{kt Œu™k …h 1 Úke 6 ‚wÄe™e ‚tÏÞkyku ÷¾u÷e nkuÞ Au. ßÞkhu yk zkR‚ VUfðk{kt ykðu íÞkhu
1 ™e ½x™k™e ‚t¼kð™k rƒ™-Ä™ ‚tÏÞk Au. {kxu 2 Úke 6 ‚wÄe™e yk 5 ™tƒhku ™e ‚t¼kð™k ‚{k™ Au. yk zkR‚ yufðkh
VUfðk{kt ykðu Au. zkR‚ …h yufe ‚tÏÞk Ëu¾kÞ Œuðe ‚t¼kð™k fux÷e Au?

(A) 1/5 (B) 2/5

(C) 1/2 (D) 2/3

077. AP 25, 20, 15, ... ™ku fÞku …Ë «Úk{ Éý þçË Au?

(A) 9{e (B) 8{e

(C) 7{e (D) 10{e

078. òu 1.2:3.9 :: 2:a, Œku a ™e ®f{Œ þkuÄku.

(A) 6.5 (B) 6.9

(C) 6.3 (D) 6.1

079. ºký ‚tÏÞkyku™ku ‚hðk¤ku 106 Au. «Úk{Úke ƒeS™ku „wýku¥kh 5:6 Au y™u ƒeSÚke ºkeS™ku „wýku¥kh 9:10 Au. ƒeòu
™tƒh þkuÄku.

(A) 54 (B) 27

(C) 18 (D) 36

080. òu {wÆ÷ Y. 5000/- 8 ð»ko{kt Y.10000/- ƒ™u Au. Œku çkUf{kt ‚kËk ÔÞks™ku Ëh þwt Au?

(A) 12.5% (B) 20%

(C) 15% (D) 10%
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073. The average monthly salary of 10 employees working in a company is Rs. 6835 and the average
monthly salary of 3 women employees among them is Rs. 5428. What is the average monthly
salary of the rest 7 employees?

(A) 6550 (B) 6845

(C) 7238 (D) 7438

074. If two unbiased six face dice are thrown, what is the probability that the sum of the numbers on
both the faces turned up, is a prime number greater than 5?

(A) 2/9 (B) 1/9

(C) 1/3 (D) 15/36

075. The diagonal of a rectangular tub is 25 feet. If the shorter side is 15 feet, then find the area of the
tub.

(A) 420 sq feet (B) 300 sq. feet

(C) 360 sq. feet (D) 240 sq. feet

076. A biased dice has numbers from 1 to 6 written on its faces. The probability of occurrence of 1
when this dice is thrown is a non-positive number. The probability of occurrence of numbers
from 2 to 6 is same for these 5 numbers. This dice is thrown once. What is the probability that
an odd number appears on the dice?

(A) 1/5 (B) 2/5

(C) 1/2 (D) 2/3

077. Which term of the AP 25, 20, 15, ... is the first negative term?

(A) 9th (B) 8th

(C) 7th (D) 10th

078. If 1.2 : 3.9 : : 2 : a, then find the value of a.

(A) 6.5 (B) 6.9

(C) 6.3 (D) 6.1

079. The sum of three numbers is 106. The ratio of the first to second is 5:6 and that of second to
third is 9:10. Find the second number.

(A) 54 (B) 27

(C) 18 (D) 36

080. What is the rate of simple interest in a bank if the principal amount of Rs. 5000 becomes Rs.
10000 in 8 years?

(A) 12.5% (B) 20%

(C) 15% (D) 10%
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081. ƒÄe òuzýe ‚k[e nkuÞ Œuðku rðfÕ… …‚tË fhku.

1. fr‚Ëku, fki‚ÕÞk, „útÚkkð÷e, xuxut, ðe[e

2. f‚eËku, fkiþÕÞk, „útÚkkð÷e, xutxut, rð[e

3. frþËku, fkiþÕÞk, „útÚkkðr¤, xuxu, ðe[e

4. fþeËku, fki‚ÕÞk, „útÚkkðr÷, xutxut, rðr[

(A) VõŒ 1 ‚k[wt Au. (B) VõŒ 2 ‚k[wt Au.

(C) VõŒ 2 y™u 4 ‚k[k Au. (D) VõŒ 2 y™u 3 ‚k[k Au.

082. ™e[u yk…u÷kt sqÚk æÞk™u ÷E ‚{k™kÚkeo þçËku rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

1. rðhkð, æðr™, yðks, ½ku»k

2. yufktŒ, rðrðõŒ, yufkfe, yuf÷wt

3. rðŒÚk, rðËÚk, ykðzŒ, ¿kk™

4. rð¼k, rfhý, hr~{, {he[e

(A) VõŒ 1 y™u 2 ÞkuøÞ Au. (B) VõŒ 3 y™u 4 ÞkuøÞ Au.

(C) VõŒ 1, 3 y™u 4 ÞkuøÞ Au. (D) 1, 2, 3 y™u 4 ÞkuøÞ Au.

083. ™e[u yk…u÷kt sqÚk æÞk™u ÷E rðÁØkÚke þçËku rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

1. rðð]¥k  ‚tfwr[Œ 2. æðktŒ  Wòþ 3. r™ŒktŒ  æðktŒ 4. LÞq™Œk  Wå[Œk

(A) VõŒ 1 ÞkuøÞ Au. (B) VõŒ 1 y™u 2 ÞkuøÞ Au.

(C) VõŒ 1, 3 y™u 4 ÞkuøÞ Au. (D) VõŒ 1 y™u 4 ÞkuøÞ Au.

084. ™e[u yk…u÷k YrZ«Þku„ y™u Œu™k yÚko {kxu ÞkuøÞ rðfÕ… …‚tË fhku.

 YrZ«Þku„         yÚko

1. y¾kzk fhðk = ðkŒ æÞk™{kt ™ ÷uðe

2. ykt¾ ykzk fk™ fhðk = ðkŒ æÞk™{kt ™ ÷uðe

3. fk™ Œ¤u fkZðwt = ðkŒ æÞk™{kt ™ ÷uðe

4. fk™u ™ Ähðwt = ðkŒ æÞk™{kt ™ ÷uðe

(A) VõŒ 1,2 y™u 4 ÞkuøÞ Au. (B) VõŒ 2 y™u 3 ÞkuøÞ Au.

(C) VõŒ 2, 3 y™u 4 ÞkuøÞ Au. (D) 1, 2, 3 y™u 4 ƒÄk s ÞkuøÞ Au.

085. ™e[u yk…u÷e fnuðŒku™u æÞk™u ÷E Œu™k rðþu ‚k[ku rðfÕ… …‚tË fhku.

1. {™ nkuÞ Œku {k¤ðu sðkÞ

2. ½hzkt „kzkt ðk¤u

3. ‚kXe ƒwrØ ™kXe

4. …kfu ½zu fktXk ™ [zu

(A) 3 y™u 4 ‚{k™kÚkeo fnuðŒku Au, 1 y™u 4 rðÁØkÚkeo fnuðŒku Au.

(B) 1 y™u 2 ‚{k™kÚkeo fnuðŒku Au, 2 y™u 4 rðÁØkÚkeo fnuðŒku Au.

(C) 1 y™u 4 ‚{k™kÚkeo fnuðŒku Au, 2 y™u 3 rðÁØkÚkeo fnuðŒku Au.

(D) 1 y™u 3 ‚{k™kÚkeo fnuðŒku Au, 1 y™u 2 rðÁØkÚkeo fnuðŒku Au.
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086. ™e[u yk…u÷k ‚k{kr‚f þçË y™u Œu™k «fkh rðþu ÞkuøÞ rðfÕ… …‚tË fhku.

 ‚k{kr‚f þçË -  «fkh

1. ™e÷ku…÷ - f{oÄkhÞ ‚{k‚

2. Œr¤ÞkÍkxf -  {æÞ{…Ë÷ku…e ‚{k‚

3. ðe‚™nkuhe - ƒnwðúern ‚{k‚

4. ™ðr™{koý - rî„w ‚{k‚

(A) VõŒ 1 y™u 3 ÞkuøÞ Au.

(B) VõŒ 2 y™u 3 ÞkuøÞ Au.

(C) VõŒ 1, 2, y™u 3 ÞkuøÞ Au.

(D) 1, 2, 3 y™u 4 ƒÄk s ÞkuøÞ Au.

087. ™e[u yk…u÷e ‚trÄ rðþu ‚k[ku rðfÕ… …‚tË fhku.

1. s„ŒT + s™™e = s„ßs™™e

2. s„ŒT + {kŒk = s„L{kŒk

3. Œ™w + yt„e = íkLðtøke

4. s„ŒT + ™kÚk = s„ÒkkÚk

(A) VõŒ 1 y™u 2 ‚k[k Au.

(B) VõŒ 1 y™u 3 ‚k[k Au.

(C) 1, 2, 3 y™u 4 ƒÄk s ‚k[k Au.

(D) 1, 2, 3 y™u 4 ƒÄk s ¾kuxk Au.

088. ™e[u yk…u÷e fkÔÞ-…trõŒ™u æÞk™u ÷E yu™k AtË™k «fkh™ku ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‘¼qÏÞkt-s™ku™ku sXhkrø™ ò„þu,
¾tzuh™e ¼M{fýe ™ ÷kÄþu.’

2. ‘fËe yr¼{k™ fhu s™ fkuÞ,
nòh ð‚k n÷fku ƒnw nkuÞ.’

3. ‘~Þk{ [hý M{hý r{ºk, ‚h‚ heŒ ‚k[e;
Œu rð™k rºk÷kuf {æÞ , ¢kuz ðkŒ fk[e.’

4. ‘ËeXku Œ™u nt‚™e nkh {ktnu,
ËeXku y»kkZe s÷Äkh {ktnu.’

(A) 1. ELÿð@k,   2. {kuŒeËk{,   3. {neËe…,   4. ELÿðtþk

(B) 1. ELÿðtþk,   2. {kuŒeËk{,   3. {neËe…,   4. ELÿð@k

(C) 1. ELÿðtþk,   2. {neËe…,   3. {kuŒeËk{,   4. ELÿð@k

(D) 1. ELÿð@k,   2. {kuŒeËk{,   3. {neËe…,   4. W…uLÿð@k
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089. ™e[u yk…u÷e fkÔÞ-…trõŒ™u æÞk™u ÷E yu™k y÷tfkh™k «fkh {kxu ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‘fkÞk ft[™ ‚{e ƒ[…ýÚke Ëefhk {kyu su ½ýe ‚t¼k¤e.’

2. ‘{khk Sð™™e ðkze{kt Vq÷ku r¾÷Œkt,
yu Œku Ëw:¾ku fuhk Œzfk r™íÞu Íe÷Œkt.’

3. ‘yk ykí{k yuf rË™ ÷uðkþu,
yu hkÏÞku fkuE™ku ™net hnuþu,
nu.. Œkhe ¼kzk™e fkuxze ¾k÷e Úkþu.’

4. ‘Œkhe suðe yuf Œwt s nu s™™e!’

(A) 1. W…{k,   2. Y…f,   3. yrŒþÞkurõŒ,   4. W…{k

(B) 1. W…{k,   2. yrŒþÞkurõŒ,   3. Y…f,   4. y™LðÞ

(C) 1. W…{k,   2. Y…f,   3. yrŒþÞkurõŒ,   4. y™LðÞ

(D) 1. W…{k,   2. ~÷u»k,   3. Y…f,   4. W…{k

090. ™e[u™e rð„Œku™u æÞk™u ÷E ÞkuøÞ rðfÕ… …‚tË fhku.

1. ‚trÄ : r¼»ksT + hks = r¼»k„úks

2. f{oÄkhÞ ‚{k‚ - ¾z{ku‚k¤

3. ‚Sðkhku…ý y÷tfkh - {™w»Þ{kt Ä™™ku Œ]»ýk ðkÞw çnufe hÌkku Au.

4. YrZ«Þku„™k yÚko™ku yÚko : {kuxu …kx÷u ƒu‚ðwt = Ÿ[k …Ëu ƒu‚ðwt

(A) VõŒ 1 y™u 2 ‚k[k Au. (B) VõŒ 1, 2 y™u 3 ‚k[k Au.

(C) VõŒ 2 y™u 4 ‚k[k Au. (D) VõŒ 4 ‚k[wt Au.

091. _______ Ganga is _______ sacred river.

(A) No article / the (B) The / the

(C) The / a (D) No article / No article

092. Either the manager or his assistant failed in _______ duty.

(A) his (B) their

(C) her (D) the
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093. In course _______ time he realised his mistake.

(A) of (B) to

(C) off (D) on

094. This is the house _______ Jack built.

(A) which (B) whom

(C) what (D) that

095. I shall wait till you _______ your lunch.

(A) finished (B) finish

(C) have finished (D) will finish

096. _______ you lend me your scooter, please?

(A) Would (B) Shall

(C) Will (D) Can

097. They made him king. (Change the voice)

(A) King made by them (B) He was made king

(C) He has been made king (D) King has been made by them

098. Had you not informed me, I _______ missed the flight.

(A) will have (B) would have

(C) shall have (D) could have

099. I saw the lion _______ the prey.

(A) catching (B) catches

(C) caught (D) had caught

100. There is only _______ sugar in the jar.

(A) little (B) afew

(C) a little (D) few
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101. Lindlar’s catalyst is
(A) Platinum in ethanol (B) Nickel in ethanol
(C) Palladium with barium sulphate (D) Sodium in liquid ammonia

102. For a reaction,

ph – c  c – ph 
ph

h

h

ph 
The required reagent is at _______ the following. 
(A) LiAlH4 (B) Li/NH3

(C) H2/Ni (D) H2/Zn
103. Lucas reagent is _______

(A) Anhydrous AlCl3 with Con. HCl (B) Anhydrous ZnCl2 with K2SO4

(C) Anhydrous ZnCl2 with HCl (D) Anhydrous CaCl2with HCl
104. Tischenko reaction is a modification of _______

(A) Aldol condensation (B) Cannizaro reaction
(C) Claisen condensation (D) Reimer-Tieman reaction

105. Ozonalysis at, which of the following defines give propanone as one Bucket?
(A) Propene (B) 2-Methyl -1-butene
(C) 2,3-Dimethyl but-2-ene (D) 1-Butene

106. Which one of the following is not Chiral?
(A) 2-Chloropentane (B) 1-Chloropentane
(C) 1-Chloro-2-Methyl pentane (D) 3-Chloro-2-Methyl pentane

107. Which one of the following statement is not correct?
(A) Reactivity order at halogen towards alkane is F2 > Cl2>Br2 

(B) Oxygen acts as inhibiter in reaction between CH4 and Cl2
(C) Iodine does not react withCH4 at all
(D) The reaction at Cl2 and CH4 proceeds via ionic mechanism

108. During the addition Polymerization, the reaction proceeds via _______
(A) Free radical chain reaction (B) Step-Growth process
(C) Addition reaction (D) Cascade process

109. The number-average molar mass  M n  and weight average molar mass  Mw of a
polymer are obtained respectively by _______ 
(A) Osmometry and Viscosity (B) Light scattering and sedimentation
(C) Viscocity and Light scattering (D) Osmometry and Light scattering

110. The intrinsic Viscocity depends on the molar mass (n) = kma, the emirical Constant
k and a are dependent
on _______
(A) Polymer-Polymer interaction (B) Polymer-Solvent pair
(C) Polymer only (D) Solvent only
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111. For the reaction,
2N2O54NO2 + O2 

Rate at reaction is _____

(A)  2 5
1
2

d N O
dt

(B)  2 52 d N O
dt

(C)  2
1
4

d NO
dt

(D)  24 d NO
dt

112. Which one of the following intermediate is involved in witting reaction?
(A) Carbocation (B) Carbanion
(C) Ylide (D) Free radical

113. Bond enthalpy of C C bond is _______
(A) 823 KJ/mol (B) 463 KJ/mol
(C) 375 KJ/mol (D) 288 KJ/mol

114. Methane on heating with a regular supply at dioxygen at high pressure in presence
of MO2O3 gives _______.
(A) Methanal (B) Methanol
(C) Methanoic acid (D) Dimethyl ether

115. Number of isomers possible for C6H14 is _______.
(A) 3 (B) 4
(C) 5 (D) 6

116. Molecular formulae of compound used in welding is _______.
(A) C3H5N (B) C2H2

(C) C2H6 (D) C3H6O
117. Half-life at first order reaction is 10 min. _______% at reaction will be completed in

100 min.
(A) 99.9 (B) 75
(C) 80 (D) 25

118. According to Arhenious equation, rate constant of chemical reaction is equal to
_______ of the following?
(A) Ae–Ea/RT (B) AeEa/RT

(C) AeRT/Ea (D) Ae–RT/Ea

119. For a reaction,

CH3COO2CH5 + H2O 
+H  CH3COOH + C2H5OH

Order of reaction is _______
(A) First (B) Second
(C) Third (D) Zero

120. pH of aqueous solution of 0.02 M acetic acid is _______ Where, ka = (1.7  10–5)
(A) 5.6 (B) 1.9
(C) 2.1 (D) 3.2

121. The member of unpaired electrons in ground state of Al is (Where, z = 13)
(A) 1 (B) 2
(C) 3 (D) 4
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122. Degree of ionisation does not depend on _______
(A) Dilution (B) Molecular mass of the electrolyte
(C) Nature at electrolyte (D) Nature at the solvent

123. The potential at hydrogen electrode at pH1 is _______
(A) 0.59 V (B) 0.059 V
(C) 0 V (D) - 0.059 V

124. Which one of the following is not correct representation for a cell?
(A) °cell = Reduction potential of Cathode + Oxidation potential of anode
(B) °cell = Oxidation potential of Cathode + Oxidation potential of anode
(C) °cell = Reduction potential of cathode – Oxidation potential of anode
(D) °cell = Reduction potential of Cathode – Reduction potential of anode

125. The value at ka for HCN is 4.0 x 10-10. What will be the value at Pkb for CN– ?
(A) 2.2 (B) 4.6
(C) 1.3 (D) 6.8

126. What will be the EMF of cell for
Ni/Ni+2 (1.0M) | | Au+3 (1M)/Au
Where E° for Ni+2/Ni = -0.25 V,
Au+3/Au = 1.5 V
(A) +1.25 V (B) +1.75 V
(C) –1.25 (D) –1.75 V

127. The rusting at iron is catalysed by which of the following?
(A) H+ (B) Zn
(C) O2 (D) Fe

128. Correctly matched Carbonyl stretching frequency for the following is
(P) O

O

(x) 1750 cm–1

(Q) O

O

(y) 1770 cm–1

(R) O

O

(z) 1800 cm–1

(A) P - y,  Q - z,  R - x (B) P - y,  Q - x,  R - z
(C) P - z,  Q - y,  R - x (D) P - x,  Q - z,  R - y

129. Among A - C, aromatic compounds are _______ of the following.

A B C
(A) A, B and C (B) A and B only
(C) B and C only (D) A and C only

130. Correct order at basicity is _______.
(A) NH3 < NMe3 <NF3 (B) NF3 < NMe3 < NH3

(C) NH3 < NF3 < NMe3 (D) NF3 < NH3 < NMe3
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131. Which one among the following is strongest conjugate base?
(A) OAC– (B) NO2

–

(C) OCl– (D) F–

132. Activity co-efficient calculated using Debye-Huckel law are always
(A) Greater than one (B) Lesser than one
(C) Equal to one (D) Less than zero

133. The ionic strength at 0.01 M K2SO4 is _______.
(A) 0.01 (B) 0.02
(C) 0.03 (D) 0.04

134. Reaction at ethelene with 1% alkaline KMnO4 produces _______.
(A) Formaldehyde (B) Acetic acid
(C) Acetone (D) Ethelene glycol

135. Choose the Correct order at ionic radii among the following
(A) Cl– > I– > Te–2 > Ar+ (B) Te–2 > I– > Cl– > Ar+

(C) I– > Te–2 > Cl– > Ar+ (D) I– > Cl– > Ar+ > Te–2

136. Choose incorrect order for acidic strength.
(A) SiO2 > CO2 (B) CO2 > CO
(C) HClO2 > HOCl (D) SO2 < SO3

137. Which one of the following species has maximum number of lone pair on central
atom?
(A) BrF4

– (B) SO4
–2

(C) CO3
–2 (D) XeF3

+

138. Highest carbon content is in _______ form of iron.
(A) Pig iron (B) Wrought iron
(C) Steel (D) Cast iron

139. Which one of the following is not an ore of copper?
(A) Atacamite (B) Copper Glance
(C) Cerrysite (D) Chalcopyrite

140. Which one of the following is used for making mirrors?
(A) Tin amalgam (B) zinc amalgam
(C) Pure tin (D) Pure mercury

141. The Purest Variety of iron is called _______.
(A) Pig iron (B) Steel
(C) Wrought iron (D) Cemeritite

142. Identify M & N in the following reaction.

2
Controlled heatingCopper Glance  M + SO
in presence of air

2
NM Cu+SO 

(A) M = Cu2O, N = self reduction (B) M = Cu2O + Cu2S, N = only heating
(C) M = Cu2O, N = Carbon reduction (D) M = Cu2O, N = Electrolytic reduction

143. Which of the following ores can be considered as an ore of both Ca and Mg?
(A) Dolomite (B) Cacite
(C) Magnesite (D) Magnetite
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144. Sodium nitropruside solution is used to detect _______ of the following ions.
(A) S–2 (B) S2O3

–2

(C) Cu+2 (D) Al+3

145. Choose the correct solubility order for the following.
(A) Sb2S3 < BaS < MnS < K2S (B) Sb2S3 < MnS < BaS < K2S
(C) BaS < MnS < Sb2S3 < K2S (D) K2S < MnS < Sb2S3 < BaS

146. The aqueous solution of a salt having cation gives precipitates on treatment with
(NH4)2S, which is soluble in acetic acid. The cation will be _______.
(A) Mn+2 (B) Zn+2

(C) Ni+2 (D) Hg+2

147. Correct ionization energy order among the following is _______.
(A) Sc > y > La (B) Sc > y = La
(C) Sc < y < La (D) Sc > La > y

148. IUPAC name of the following compound is _______.
O

(A) 3-Methyl-cyclohex-3-en-1-one (B) 5-Methyl-1-cyclohex-4-en-1-one
(C) 1-methyl-cyclohex-1-en-5-one (D) 2-methyl-cyclohex-1-en-4-one

149. Which one of the following pair is not  “Hard acid”
(A) H+K+ (B) H+T2

+

(C) H+Li+ (D) H+Be+

150. On a 100 MHz spectrometer, what is the shift difference in H2 between signal
appearing in the spectrum at 81.5 PPm and 2.6 PPm
(A) 100 Hz (B) 110 Hz
(C) 120 Hz (D) 150 Hz

151. Which one of the following statement correctly describes the formation of fumes?
(A) Fumes are liquid particles formed by condensation
(B) Fumes are gaseous particles formed by sublimation
(C) Fumes are solid Particles formed by condensation at vapors
(D) Fumes are liquid particles formed by distillation

152. A clean filter is found to weigh 10.00 g. After 24 h in high volume, the filter plus
dust weighs 10.10 g. The air flows at the start and end of the test are 60 and 40 cfm
respectively. What will be Particulate concentration?
(A) 50 wg/m3 (B) 49 wg/m3

(C) 52 wg/m3 (D) 51 wg/m3

153. Which is the correct reaction, when sulfurous acid (H2SO3) donates a Proton to a
water molecule?
(A) – +

2 3(aq) 2 (l) 3(aq) 3 (aq)H SO + H O SO + 2H O

(B) – +
2 3(aq) 2 (l) 4(aq) 3 (aq)H SO + H O HSO + H O  

(C) – +
2 3(aq) 2 (l) 3(aq) 3 (aq)H SO + H O HSO + H O  

(D) 2 3(aq) 2 (l) 2 4(aq) 2(g)H SO +H O H SO +H
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154. For the following reaction,
2– + +
3(aq) 3 (aq) (aq) 2 (l)CO +H O HCO +H O

Which species acts as the Bronstedlowry base?
(A) –

3HCO (B) H2O

(C) H3O+ (D) 2–
3CO

155. Which of the following best describes the impact of cultural eutrophication on the
marine food web in the Gulf of Mexico?
(A) Decreased primary productivity of all trophic levels
(B) Reduced oxygen levels leading to fish kills and decreased biodiversity
(C) Stabilization of predator-Prey relationships
(D) Reduced oxygen level resulting in growth inhibition of all aquatic organisms

156. What will be the theoritical oxygen demand in mg/L for a 1.67  10–3 molar solution
of glucose (C6H12O6) to decompose completely?
(A) 221 (B) 321
(C) 421 (D) 521

157. In soils containing manganese, which oxidation state of chromium can be
transformed in to more toxic form?
(A) Cr (II) to Cr (III) (B) Cr (II) to Cr (VI)
(C) Cr (III) to Cr (VI) (D) Cr (VI) to Cr (III)

158. Under which soil conditions, dimethyl mercury is most likely generated?
(A) Highly reducing conditions (B) Highly oxidizing conditions
(C) Highly salinity conditions (D) Neutral pH conditions

159. Which soil property has the most significant impact on the mobility of heavy metals
like lead in polluted soils?
(A) Soil texture (B) Cation Exchange Capacity (CEC)
(C) Organic matter content (D) Soil PH

160. In geothermal areas, which Primary form of sulfur is released by geysers and hot
springs?
(A) Hydrogen sulfide (H2S) (B) Sulfur dioxide (SO2)
(C) Carbon disulfide (CS2) (D) Sulfuric acid (H2SO4)

161. One of the following fluxes in the atmosphere, has the smallest sulfur cycle when
____:
(A) Sulfer species washed out in rainfall over land
(B) Sulfates entering the atmosphere as “sea salt”
(C) Sulfur species entering the atmosphere from volcanoes
(D) Sulfur species entering the atmosphere from fossile fuels

162. Which one of the following reaction is responsible for the formation of nitrogen
dioxide  (NO2) in atmosphere?
(A) N2 + O2  2NO (B) NO + O2  NO2

(C) NO2 + O2  NO3 (D) NO + O3  NO2 + O2
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163. At what wave length of light does nitrogen dioxide (NO2), when it photochemically
dissociate to produce reactive oxygen atoms?
(A) ~ 430 nm (B) < 430 nm
(C) > 430 nm (D) > 530 nm

164. Which one of the following statement is not true regarding carbon monoxide in the
atmosphere?
(A) At its average concentration in the global atmosphere, it is probably a threat to
human
(B) It is removed from the atmosphere largely by reaction with hydroxyl radical
(C) It is removed from the atmosphere in part by its being metabolized in soil
microorganisms
(D) It has some neutral as well as pollutant sources

165. Which among the following is correct, for affinity of human haemoglobin (Hb) for
carbon monoxide compared to its affinity for O2 is _______.
(A) 110 times greater (B) 10 times greater
(C) 210 times greater (D) 310 times greater

166. _______ of the following best describes the role at Desulfovibrio bacteria in the
reduction of inorganic sulfate ion to hydrogen sulfide (H2S)
(A) They utilize sulfate as an electron acceptor in the oxidation of organic matter
(B) They use sulfate as an electron donor in the oxidation of organic matter
(C) They oxidize sulfate to produce hydrogen sulfide as a byproduct
(D) The use hydrogen sulfide as an electron donor in the reduction of sulfate

167. Which one of the following gases is known as a natural product of bacterial action
on cysteine?
(A) Methane (B) Sulfur dioxide
(C) Sulfur trioxide (D) Hydrogen sulfide

168. Which specific pollutant is primarily responsible for the blackening of stone
monuments and buildings, often referred as “soiling”?
(A) Sulfur dioxide (B) Particulate matter
(C) Nitrogen oxides (D) Ozone

169. Which one of the following pollutant is most responsible for detorioration of
stained-glass windows in historic buildings?
(A) Ammonia (B) Sulfur dioxide
(C) Nitrogen oxides (D) Ozone

170. Which primary material was used in the construction of Great Stupa at Sanchi?
(A) Sandstone (B) Granite
(C) Marble (D) Limestone

171. The preservation at manuscripts found in the Bamiyan caves can be attributed to
which of the following material Property?
(A) Chemical stability (B) Physical strength
(C) Reflectivity (D) Thermal conductivity

172. Which type of biological deterioration causes significant damage to the wooden
structures in the ancient city at Pompeii?
(A) Insect infection (B) Termite’s infection
(C) Fungal decay (D) Rodent gnawing
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173. Which one of the following factor is least likely to contribute the deterioration of
frescoes in ancient Roman Villas?
(A) Stable temperature (B) Light exposure
(C) Air pollution (D) Humidity fluctuation

174. Which one at the ancient city suffered significant damage due to a series of
earthquakes in 62 AD, leading to subsequent restoration efforts that were
incomplete before its destruction in 79 AD?
(A) Ephesus (B) Pompeii
(C) Carthage (D) Herculaneum

175. Which of the following has the most immediate effect of arson on organic
archaeological materials?
(A) Microbial growth (B) Char formation
(C) Oxidative weathering (D) Hydrolytic degradation

176. The site known for its terracotta army, faced severe water logging issues after
flooding in 1976 is at _______.
(A) Xi’an (B) Petra
(C) Machu Picchu (D) Angkor Wat

177. Main focus of the Venice Charter (1964) in context to conservation policy is ______.
(A) Economic assessment of heritage sites
(B) Preservation and restoration at historic buildings
(C) Technological innovations in conservation
(D) Community engagement in conservation efforts

178. According to the International Council of Monuments and Sites (ICOMOS), ethical
principles, the primary ethical responsibility at conservators is _______.
(A) Modernizing heritage sites (B) Ensuring the authenticity of heritage
(C) Maximizing tourism revenue (D) Expanding the use at synthetic
materials

179. Which one of the following best defines preventive conservation in context of
cultural heritage?
(A) Complete restoration to the original state
(B) Direct intervention to repair damage
(C) Actions aimed at avoiding and minimizing future deterioration
(D) Replacement of damaged parts with new materials

180. Which one of the following is true for “Primary difference between preventive and
remedial conservation”?
(A) Preventive conservation involves minimal intervention, while remedial
conservation involves active treatment
(B) Preventive conservation is more costly than remedial conservation
(C) Preventive conservation is reactive, while remedial conservation is proactive
(D) Preventive conservation is only for movable objects, while remedial
conservation is for immovable heritage

181. Which one of the following tools for analysis is must required for a well-equipped
conservation laboratory?
(A) Spectrophotometer (B) Typewriters
(C) Large printing press (D) Water colour sets
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182. Which one of the following international institutions offers a comprehensive
conservation programme?
(A) British Library, UK
(B) American Institute for Conservation, USA
(C) The Getty Conservation Institute, USA
(D) Louvre Museum, France

183. The International Institute of Conservation of historic and artistic works (IIC)
focuses on:
(A) Legal Protection of heritage sites
(B) Scientific research and practice in conservation
(C) Community engagement in heritage conservation
(D) Economic valuation of cultural properties health for conservation

184. Match the following terms with their corresponding headquarters :
 List I  List II 

(a) ICOMOS (i) Gland, Switzerland
(b) IUCN (ii) Charenton-Le-Pont, France
(c) ICCROM (iii) Rome, Italy
(A) (a) - (ii), (b) - (i),  (c) - (iii) (B) (a) - (i), (b) - (ii),  (c) - (iii)
(C) (a) - (iii), (b) - (i),  (c) - (ii) (D) (a) - (i), (b) - (iii),  (c) - (ii)

185. Which one of the following is a characteristic properly of organic materials used in
archaeological collections?
(A) Susceptibility to biodegradation (B) High thermal conductivity
(C) Inertness to chemical reactions (D) High melting point

186. Which one of the following materials is most susceptible to acid hydrolysis leading
significant decay in archaeological collections?
(A) Marble (B) Iron
(C) Parchment (D) Ceramic

187. Which type of environmental aggressor is commonly responsible for the accelerated
decay of paper based artifacts in archaeological collections?
(A) Fluctuating humidity levels (B) High UV exposure
(C) Higher temperatures (D) Enhanced biological growth

188. Which type of material is most susceptible to photochemical degradation due to UV
light exposure?
(A) Bronze (B) Cotton textiles
(C) Granite (D) Bone

189. Why is the conservation of protective and technologically informative surface
finishes on metals, when aluminium is considered important?
(A) Because it improves the structural strength of the metal
(B) Because it prevents the metal from tarnishing
(C) Because it provides historical and technological information
(D) Because it enhances the aesthetic appeal of the metal
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190. The purpose of oddy test in context to museum collection is _______.
(A) To determine the mechanical strength of metals
(B) To test the thermal conductivity of construction materials
(C) To identify gas pollutants that can cause corrosion in metals
(D) To measure the density at different metal alloys

191. Which one of the following materials is known to cause corrosion on aluminium and
its alloys when kept in museum environments?
(A) Formic acid (B) Nitric acid
(C) Sulfur compounds (D) Carbonyl pollutants

192. What is the common source of corrosion on zinc coins and Indian Bidri Ware in
museum collections?
(A) High humidity levels
(B) Handling by people
(C) Improper temperature Control
(D) Exposure to sulfur compounds in the air

193. Without electronic devices which traditional method is used to control relative
humidity in a storage to maintain environment?
(A) Silica gel packets (B) Dehumidifiers
(C) HVAC systems (D) Thermoelectric coolers

194. Which modern technology is used for non-destructive analysis at materials to assess
the impact of environmental factors?
(A) Polarized Light Microscopy
(B) X-ray Fluorescence (XRF)
(C) Atomic Absorption Spectroscopy (AAS)
(D) Acid-base Titration

195. The primary goal of IPM incultural heritage conservation is _____
(A) To minimize the impact of pests on cultural objects
(B) To eradicate all pests completely
(C) To eliminate the need for pest control measures
(D) To preserve cultural heritage without any interventions

196. What is the recommended temperature range for freezing objects to control pest
infestations ?
(A) Below –10°C (B) 5°C to 10°C
(C) 0°C to 5°C (D) Above 10°C

197. Which type of fungicide is commonly used in IPM for controlling fungal growth on
wooden objects?
(A) Ethelene oxide (B) Chlorinated hydrocarbons
(C) Triazole derivatives (D) Organo phosphates

198. The primary principle used to control atmospheres in IPM is _______.
(A) To create anoxic conditions
(B) To introduce humidity levels
(C) To introduce pests in natural environments
(D) To reduce temperature fluctuations
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199. What is the first step in disaster preparedness process for cultural heritage
institutions?
(A) Risk assessment (B) Public awareness
(C) Recovery planning (D) Securing funds

200. In disaster management the term “mitigation” specifically refers to _______.
(A) Financial compensation for loses
(B) Efforts to reduce disaster risk
(C) Efforts to prevent disaster from happening
(D) Immediate response efforts

201. Which one of the following measures is not typical Part of disaster recovery for
cultural heritage sites?
(A) Documentation of damage
(B) Salvage and conservation of artifacts
(C) Structural repairs and stabilization
(D) Development at a disaster response plan

202. In context to disaster management the term “Preparedness” includes _______.
(A) Post-disaster rebuilding
(B) Emergency response exercises
(C) Analysis of past disasters
(D) Assessment of long-term climate impacts

203. Which disaster management strategy involves creating detailed plans for the
continuity at operations during and after a disaster?
(A) Mitigation (B) Preplanning
(C) Preparedness (D) Response

204. During packing of archaeological materials for transportation, which one of the
following material is recommended to prevent physical damage?
(A) Polyethylene foam and acid-free tissue paper
(B) Cardbuard boxes without padding
(C) Newspaper and standard plastic wrap
(D) Metal containers with no padding

205. Key consideration, when transporting archaeological materials to ensure their
safety is _______.
(A) speed of transport
(B) cost-effectiveness
(C) climate control and shock absorption
(D) number of items transported at once

206. Which of the following is a fundamental rule for handling archaeological material
to Prevent damage?
(A) Minimizing handling and using appropriate gloves
(B) Storing objects on open shelves for easy access
(C) Using fare hands to enhance tactile feedback
(D) Handling objects as frequently as possible to assess condition
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207. During excavation, which one of the following approach is recommended for
accurate archaeological finding?
(A) Digital photography and 3D scanning
(B) Sketching by hand only
(C) Relying solely on memory and written notes
(D) Drawing plans without any measurement

208. Which one of the following is crucial for ensuring the stability of fragile objects
during transportation?
(A) Regular office tape
(B) Standard plastic fags
(C) Acid-tree storage boxes with foam inserts
(D) Metal crates without padding

209. Which of the conservation issue is most likely affect organic materials during
excavation?
(A) Abrasion from handling
(B) Corrosion
(C) Chemical reactions with modern pollutants
(D) Desiccation and microbial decay

210. Without causing damage which one of the following technique is commonly used to
examine the internal structure at artifacts?
(A) Chemical etching (B) Micro-drilling
(C) Ultrasonic testing (D) X-ray radiography

211. While diagnosing the type and extent of decay in wooden artifacts, which one of the
following factor is crucial for identifying biological deterioration?
(A) Chemical composition (B) Weight loss Percentage
(C) Presence of moisture (D) Surface abrasion

212. The primary purpose of documentation, where the condition at an artifact
maintained before commencing treatment is _______.
(A) To establish a baseline for evaluating treatment efficacy
(B) To assess the artifact's aestletic appeal
(C) To determine the market value of the artifact
(D) To record the artifact's historical significance

213. In testing probable treatments for metal artifacts, which one of the following
method is used to evaluate the corrosion resistance of applied coatings?
(A) Thermal cycling (B) Tensile strength testing
(C) Hardness testing (D) Salt spray testing

214. Which one of the following material is commonly used in the treatment of paper
artifacts to consolidate weakened areas without altering the appearance?
(A) Paraloid B-72 (B) Polyvinyl acetate (PVA)
(C) Methyl cellulose (D) Gelatin
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215. A technique recommended for testing the suitability of cleaning method on a fragile
ceramic object is _______.
(A) Applying the cleaning agent to a hidden area
(B) Conducting a full-scale cleaning trial
(C) Using mechanical cleaning tools
(D) Immersing the object in the cleaning solution

216. Which one of the following environmental parameter is most critical to control in
storage areas to prevent decay of organic materials?
(A) Airflow (B) Temperature fluctuations
(C) Relative humidity (D) Light exposure

217. The solvent which is most commonly used to remove vanish layers from oil
paintings on canvas without damaging the underlying paint is _______.
(A) Xylene (B) Toluene
(C) Ethanol (D) Acetone

218. The technique recommended for the consolidation of flaking point on wall paintings
is _______.
(A) Application of a thick varnish layer
(B) Injection of adhesive behind the flakes
(C) Mechanical reattachment using nails
(D) Surface cleaning with abrasive materials

219. For conserving textiles and costumes, which one of the following materials is
commonly used as a supportive backing fabric?
(A) Polyester (B) Nylon
(C) Catton muslin (D) Silk crepeline

220. Which one of the following method is most effective for treating fungal growth on
palm leaf manuscripts?
(A) Immersion in water (B) Direct sunlight exposure
(C) Application of ethelene oxide gas (D) Spraying with bleach solution

221. The chemical, frequently used to remove corrosion from bronze artifacts is
_______.
(A) Sodium hydroxide (B) Hydrochloric acid
(C) Ammonium citrate (D) Benzotriazole (BTA)

222. Which one of the following adhesive is most suitable for the consolidation of
fractured ceramic objects?
(A) Cyanoacrylate (B) Polyvinyl acetate (PVA)
(C) Silicone adhesive (D) Epoxy resin

223. Section 14 of the Ancient Monuments and Archaeological Sites and Remains Act
1958 mandate the central government relates to _______ of the following.
(A) To maintain every monument acquired under the Act
(B) To protect sculptures and carvings
(C) To regulate archaeological excavations
(D) To disburse sculptures and carvings
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224. The amendment Passed in 2010 regarding the Ancient Monuments and
Archaeological sites and Remains act is related to _______ of the following.
(A) AMASRA Rules, 1959
(B) The Antiquities and Art Treasures Act, 1972
(C) AMASRA Amendment and Validation Act, 2010
(D) National Mounement Authority Act, 2010

225. The act repealed the 1947 act and deals with the prevention of smuggling and
fraudulent dealings in antiquities and art treasures is _______.
(A) National Monument Authority Act, 2010
(B) The Antiquities and Art Treasures Act, 1972
(C) Ancient Monument and Archaeological sites and Remains Act, 1958
(D) AMASRA Amendment and Validation Act, 2010

226. _______ is the first head or the Archaeological Survey of India, when established in
1861.
(A) Sir John Marshall (B) Government of Bengal
(C) Alexander Cunningham (D) Local officers

227. Which one of the following act promulgated in 1878, enabled leading museums in
India to acquire numerous antiquities?
(A) Indian Treasure Trove Act
(B) Ancient Monuments Conservation Act
(C) Ancient Monuments Preservation Act
(D) Archaeological Survey of India Act

228. The concept evolved during the era at Sir John Marshall in context to conservation
is _______.
(A) Enactment of the Indian Treasure Trove Act
(B) Establishment of archaeological site museums
(C) Codification of conservation manuals
(D) Excavation of archaeological sites

229. In which one of the following cases the Ancient Monuments Preservation Act
(AMPA) is applied?
(A) To all ancient monuments in India
(B) To objects of archaeological, historical or artistic interest
(C) It is not applicable in any state due to their own legistations
(D) Only to ancient monuments of national importance

230. Which of the following Act governs the protection and preservation of ancient
monuments and archaeological sites in Gujarat?
(A) The Antiquities and Art Treasures Act, 1972
(B) Gujarat Ancient Monuments and Archaeological Sites and Remains Act, 1965
(C) Gujarat Ancient Monuments and Archaeological Sites and Remains Act, 1975
(D) Indian Treasure Trove Act, 1878
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231. Which monument in Gujarat is known for its unique Blend of Hindu and Islamic
architectural styles, particularly seen in its elaborate carvings and jharokhas
(overlapping balconies)?
(A) Sarkhej Roza (B) Jama Masjid
(C) Sun Temple (D) Rani Ki Vav

232. The ancient city of Lothal in Gujarat is significant for its _______.
(A) Advanced urban planning and dockyard
(B) Stepwells
(C) Rock-cut temples
(D) Buddhist caves

233. Which of the following monument is referred to as the “Queen’s stepwell” and is a
UNESCO world heritage site known for its intricate sculptures and architecture?
(A) Rani Ki Vav (B) Adalaj stepwell
(C) Dholavira (D) Champaner-Pavagadh
Archaeological Park

234. The Sun Temple of Modhera is particularly renowned for _______.
(A) Its grand entrance gateways
(B) Its underground water storage system
(C) Its sanctum sanctorum alignment with the equinoxes
(D) Its marble carvings

235. Which ancient site in Gujarat is noted for its well-preserved and remains of the
Harappan civilization, including reservoirs and series of reservoirs?
(A) Dholavira (B) Vadnagar
(C) GOP (D) Ghumli

236. The Champaner-Pavagadh Archaeological Park is recognized for its _______.
(A) Buddhist stupas
(B) Jain temples
(C) Fortified city and Islamic architecture
(D) Prehistoric cave paintings

237. Which one of the following monument in Gujarat was built by Sultan Mahmud
Begada and is known for its grand structure and fortified walls?
(A) Uparkot Fort (B) Bhadra Fort
(C) Junagadh Fort (D) Champaner Fort

238. The Buddhist caves at Talaja are significant for their _______.
(A) Rock-cut Chaityas and Vihars (B) Stupas and inscriptions
(C) Monolithic temples (D) Frescoes and mural paintings

239. Which site in Gujarat features one at the oldest continuously inhabited urban
settlements, dating back to the Mauryan period?
(A) Patan (B) Junagadh
(C) Vadnagar (D) Bhavnagar
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240. The Jama Masjid in Ahmedavad was built by Ahmed Shah I and is noted for its
_______ of the following.
(A) Latticework screens and 260 columns
(B) Large courtyard and central dome
(C) Symmetrical layout and Persian inscriptions
(D) Minarets and calligraphy

241. Under the UNESCO world heritage convention 1972, which one of the following
criterion is used to assess a site’s “outstanding universal value” for cultural
heritage?
(A) Criterion (ii) (B) Criterion (vii)
(C) Criterion (iv) (D) Criterion (v)

242 Which one of the following Article of UNESCO World Heritage Convention 
outlines the responsibilities of state parties regarding the protection of their own 
heritage? 
(A) Article 2 (B) Article 10
(C) Article 8 (D) Article 5

243 According to the UNESCO World Heritage Convention, how often must the world 
Heritage Committee meet? 
(A) Biennially (B) Quarterly
(C) Every five years (D) Annually

244 Under the CITES 1973, what is the primary purpose at Appendix I? 
(A) To list species that are extinct in the wild
(B) To list species that are threatened with extinction and are affected by trade
(C) To list species that are overpopulated and require controlled trade
(D) To regulate trade in species that are not necessarily threatened with extinction

245. Which one of the following is not a criterion for inclusion in the CITES Appendix
II?
(A) The species may become threatened with extinction unless trade is regulated
(B) The species is capable at surviving in captivity
(C) The species must be monitored to avoid utilization incompatible with its
survival
(D) The species is not necessarily threatened with extinction

246. Which Article of the UNESCO World Heritage Convention specifies the creation at
a world Heritage Fund?
(A) Article-4 (B) Article-7
(C) Article-15 (D) Article-20

247. According to CITES, 1973, which one of the following body is responsible for
ensuring the enforcement of the convention at the national level?
(A) The CITES secretariat
(B) The International Union for Conservation of Nature (IUCN)
(C) The National Management Authority
(D) The National Wildlife Federation
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248. The maximum duration for which, a site can be included in the UNESCO World
Heritage list is considered danger before a mandatory review is of _______.
(A) 10 years (B) 5 years
(C) 6 years (D) 3 years

249. Under the CITES, 1973, the main role of Scientific Authority in each member
country is _______.
(A) To enforce penalties for illegal trade
(B) To manage the national implementation of the convention
(C) To advise on the effects of trade on the status of species
(D) To regulate trade permits for species in Appendix III

250. The Venice Charter, 1964, primarily emphasizes the importance of _______.
(A) Modern architectural inventions
(B) Authenticity and historical integrity
(C) Reconstruction of historic monuments
(D) Technological advancements in conservation

251. According to The Venice Charter, 1964, which one of the following principle is
crucial when integrating new work with old structures?
(A) The new work should be hidden from view
(B) The new work should be entirely different in style
(C) The new work should be distinguishable from the original
(D) The new work should mimic the original exactly

252. Which Article of “The Venice Charter 1964, addresses the conservation of
historical settings and urban areas?
(A) Article-11 (B) Article-7
(C) Article-1 (D) Article-14

253. The UNESCO convention for the Safeguarding of Intangible Cultural Heritage,
2003, defines intangible cultural heritage as _______.
(A) Tangible objects of cultural significance
(B) Architectural structures and monuments
(C) Practices, representations, expressions, knowledge and skills
(D) Artifacts and archaeological sites

254. Under the UNESCO convention for the Safeguarding at the Intangible Cultural
Heritage, 2003, which of the following is NOT considered a domain of intangible
cultural heritage?
(A) Natural landscapes
(B) Social practices, rituals and festive events
(C) Performing arts
(D) Oral traditions and expressions

255. The Burra Charter, 1979, outlines a conservation Process consisting at several
stages. Which one of the following is NOT in string in such stages?
(A) Understanding the place (B) Assessing cultural significance
(C) Monitoring and reviewing (D) Implementing a preservation strategy
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256. According to Burra Charter 1979, Conservation should be based on _______.
(A) Documented evidence and research (B) Aesthetic Preferences
(C) Popular opinion (D) Financial feasibility

257. Which one of the following Article of Burra Charter, 1979 emphasizes the need for
a cautious approach to change, advocating for minimal intervention?
(A) Article-2 (B) Article-3
(C) Article-7 (D) Article-9

258. The UNESCO Convention for the Safeguarding of the Intangible Cultural Heritage,
2003, includes a mechanism for international cooperation. The mechanism is
referred as _______.
(A) The Intangible Cultural Heritage Fund
(B) The International Cultural Heritage Committee
(C) The World Heritage Assistance Programm
(D) The representative list of the Intangible, Cultural Heritage at Humanity

259. The Venice Charter, 1964, Article 6, discusses the importance of maintaining a sites
of _______.
(A) Historical authenticity and context (B) Structural stability
(C) Architectural style (D) Tourist accessibility

260. Which one of the following indoor pollutants is most commonly associated with the
deterioration of paper artifacts in museums?
(A) Ozone (O3) (B) Nitrogen dioxide (NO2)
(C) Formaldehyde (HCHO) (D) Sulfur dioxide (SO2)

261. Which one of the following is the primary source at acetic acid emissions,
responsible for the degradation of metal artifacts in museums?
(A) Visitor clothing (B) Cleaning products
(C) Wooden display cases (D) HVAC systems

262. In terms at indoor air quality management in museums, the recommended relative
humidity to prevent mold growth on organic artifacts is in the range _______ of the
following
(A) 30-50% (B) 20-30%
(C) 50-70% (D) 70-90%

263. Which one of the indoor pollutant is particularly harmful to oil Paintings due to its
ability to cause fadding and discoloration?
(A) Ammonia (B) Carbon monoxide
(C) Ozone (D) Particulate matter

264. The technique which found most effective for detecting volatile organic compounds
(VOCs), this Pose a risk to artifacts in museum environment is known as _______.
(A) Passive diffusion samplers
(B) Laser Particle counters
(C) Gras chromatography-mass spectrometry (GC-MS)
(D) Electrochemical sensors
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265. Formaldehyde, as an indoor pollutant, primarily affect museum textiles, works on
which one of the following?
(A) Attracts Pests
(B) Leads to fungal growth
(C) Induces chemical reactions leading to discoloration
(D) Causes mechanical damage

266. Which one type at following indoor lighting is most likely contribute the
photochemical degradation at artifacts?
(A) LED Lighting (B) Fluorescent lighting
(C) Incandescent Lighting (D) Halogen lighting

267. What is the primary concern with particulate matter in the indoor environment at
museums?
(A) Physical abrasion at surfaces (B) Chemical interaction with surfaces
(C) Both (A) and (B) (D) Neither (A) and (B)

268. Which of the following pollutant is known to cause “Silver tarnish” on
photographic plates and silver artifacts in museum collections?
(A) Hydrogen sulfide (B) Ozone
(C) Nitrogen dioxide (D) Ammonia

269. Which one of the following pollutants is most likely to cause embrittlement of
leather artifacts in museums?
(A) Ozone (B) Sulfur dioxide
(C) Nitrogen oxide (D) Formaldehyde

270. Which one of the following indoor pollutant is a significant contributor to the
“bronze disease”, which affects bronze artifacts in museums?
(A) Hydrochloric acid (B) Hydrogen sulfide
(C) Ammonia (D) Sulfur dioxide

271. Which among the following igneous rocks is characterized by a high silica content
and a Predominance of quartz and feldspar minerals?
(A) Gabbro (B) Rhyolite
(C) Basalt (D) Andesite

272. The transformation of shale into slate is an example of which one type of following
metamorphic Process?
(A) Regional metamorphism (B) Contact metamorphism
(C) Hydrothermal metamorphism (D) Shock metamorphism

273. Which among the following is primary distinguishing feature of elastic sedimentary
rocks?
(A) They are primarily composed of carbonate minerals
(B) They are composed of organic material
(C) They consist of fragments of pre-existing rocks
(D) They are formed from chemical Precipitation

274. Which among the following minerals is most commonly found in ultramatic igneous
rocks?
(A) Olivine (B) Muscovite
(C) Quartz (D) Feldspar
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275. The foliation observed in metamorphic rocks is primarily due to _______.
(A) The presence at fossils
(B) The cooling rate of magma
(C) Chemical sedimentation
(D) Differential stress during metamorphism

276. Limestone, a common sedimentary rock, is primarily composed at _______ mineral.
(A) Calcite (B) Quartz
(C) Feldspar (D) Dolomite

277. Which one type of following igneous rock texture is characterized by large crystals
set in a fine-grained groundmass?
(A) Phaneritic (B) Porphyritic
(C) Aphanitic (D) Glassy

278. The parent rock of marble in metamorphic rock cycle is _______.
(A) Shale (B) Sandstone
(C) Limestone (D) Granite

279. Which one of the following processes is primarily responsible for the formation of
sedimentary rock structures such as cross – bedding?
(A) Biological activity (B) Water or wind deposition
(C) Chemical precipitation (D) Contact metamorphism

280. Which type of metamorphic rock is known for containing large, well-formed
crystals of minerals such as Garnet, Staurolite and Kyanite typically set in a fine-
grained matrix?
(A) Gneiss (B) Schist
(C) Slate (D) Phyllite

281. Which one of the following igneous rock is commonly used in the construction of
the Brihadeeswarar Temple in Tamilnadu?
(A) Basalt (B) Dolerite
(C) Gabbro (D) Granite

282. What type at Igneous rock is commonly found in the sculptural works of the
Khajuraho temples?
(A) Obsidian (B) Diorite
(C) Andesite (D) Granite

283. What type at Igneous rock is commonly seen in the architectural elements of the
Sun Temple at Modhera in Gujarat?
(A) Granite (B) Basalt
(C) Diorite (D) Rhyolite

284. Which sedimentary rock is commonly used in the construction of the Elephanta
Caves in Maharashtra?
(A) Sandstone (B) Limestone
(C) Conglomerate (D) Shale

285. What type of sedimentary rock is predominantly used in the construction of the
Red Fort in Delhi?
(A) Sandstone (B) Shale
(C) Limestone (D) Conglomerate
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286. What type of Sedimentary rock is commonly used in the construction of the
Jaisalmer Fort in Rajasthan?
(A) Mudstone (B) Sandstone
(C) Conglomerate (D) Limestone

287. During qualitative analysis of cations, _______ group of cations forms precipitates
with dilute HCl.
(A) Group I cations (B) Transition metals
(C) Alkali metals (D) Alkaline earth metals

288. In quantitative gravimetric analysis, the purity of a Precipitate can be affected by
_______.
(A) Slow Precipitation (B) Fast Precipitation
(C) Avoiding digestion (D) Washing with cold water

289. The selectivity coefficient in ion-selective electrode (ISE) analysis is defined as
(A) The total concentration of ions in the solution
(B) The electrical potential difference across the electrode
(C) The rate at ion diffusion to the electrode surface
(D) The ability of the electrode, respond to one ion in the presence of others

290. The Key Principle of Integrated Pest Management, which differentiates it from
traditional Pest control methods is _______.
(A) Emphasis on ecosystem-based strategy
(B) Exclusive use of biological agents
(C) Use of synthetic pesticides
(D) Reliance on chemical controls

291. Which of the following monitoring technique is most effective for detecting early
infestations of coding moth in apple orchards under IPM?
(A) Light traps (B) Yellow sticky traps
(C) Sweep nets (D) Pheromone traps

292. In IPM, the Economic Threshold Level (ETL) is defined as _______.
(A) The pest density at which control measures are not required
(B) The pest density at which control measures should be applied to prevent
economic loss
(C) The level of pest infestation causing no economic damage
(D) The maximum pest density that can be tolerated without significant damage

293. Which one of the following cultural control practice is used in IPM to reduce the
habitat suitability for pests?
(A) Crop rotation (B) Application at herbicides
(C) Use of synthetic fertilizers (D) Genetic modification

294. Which one of the following analytical techniques is most commonly used for
provenance studies of obsidian artifacts?
(A) Neutron Activation Analysis
(B) Fourier Transform Infrared Spectroscopy
(C) Gas Chromatography-mass Spectrometry
(D) Raman Spectroscopy
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295. Which one of the following isotopic ratio is most commonly used to distinguish
marine and terrestrial Protein sources in human?
(A) ^13c/^12c (B) ^180/^160
(C) ^15N/^14N (D) ^345/^325

296. The application of Portable X-Ray Fluorescence (PXRF) in archaeological
chemistry primarily allows for _______.
(A) Analysis of organic residues
(B) Non-destructive analysis of element composition
(C) Detailed molecular structure determination
(D) Radio carbon dating

297. Which one of the following methods is considered the best for analysis of ancient
organic residues by allowing the identifications of Liquids, Proteins and DNA?
(A) Liquid chromatography-mass spectrometry
(B) X-ray diffraction
(C) Thermal ionization mass spectroscopy
(D) Inductively coupled plasma mass spectrometry

298. Main Purpose behind luminescence dating technique is _______.
(A) To measure decay of radioactive isotopes
(B) Measurement of radiation – induced luminescence in minerals
(C) To measure absorption of infrared light
(D) To measure emission of visible light under UV excitation

299. Which one of the following advancements in archaeological chemistry has
significantly contributed in understanding the trade routes of ancient civilizations
through the analysis of trace elements in metal artifacts?
(A) Nuclear magnetic resonance spectroscopy
(B) Differential scanning calorimetry
(C) Scanning electron microscopy
(D) Laser ablation inductively coupled plasma mass spectrometry

300. The correct order of heat at hydrogenation for the following is _______.
(i) CH3 – CH2 – CH = CH2

(ii) CH3 CH3

(iii) CH3

CH3 

(A) i > ii > iii (B) iii > i > ii
(C) ii > i > iii (D) i > iii > ii
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